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BBELEHMWE (INTRODUCTION)

JlanHoe mocoOue Mo YTEHHWIO HAyYHO-TIOMYJISIPHON M TEXHUYECKOW JIMTEepaTyphl Ha aHT-
JIMICKOM sI3BIKE MpEHA3HAUYEHO A CTYyAeHTOB | 1 || KypcoB pagiuoKOHCTPYKTOPCKOTO (hakyib-
Tera TYCVYPa, uMmeronux 35adust 0a30BOr0 aHIIIAICKOTO SA3BIKA.

[enp HacTosmero mocodust — GopMupoOBaHNE HABHIKOB M YMEHUI YTCHUS, TOHUMAaHUS U
MEePEBO/Ia OPUTHMHAIIBHON HaYyYHO-TIOMYJIAPHOW M TEXHUYECKON JTUTEpPATyphl HA aHTJIUHACKOM SI3bI-
K€, CTUMYJIUPOBAHHNE MBICITUTEIILHON NESTEILHOCTH CTYJCHTOB U Pa3BUTHE HABBHIKOB YCTHOM pe-
YH B Npejenax npopadoTaHHONW TEMATHKH.

TeKCThl SBASIOTCS KOTHUTHUBHO 3HAYMMBIMH, COOTBETCTBYIOT MPOMUII0 TEXHUYECKHX
MPEAMETOB, U3ydaeMbIX 1o Iany crnenuanbHocTedd 210201, 160905, 020801, 28010 Jtronon-
HSIOT OCHOBHOM KypC AQHTJIMICKOTO S$I3bIKa, 0a30BBIM y4E€OHO-METOJUYECKHM KOMILIEKTOM
(YMK) koroporo Beictymaet Reward Pre-Intermediate.

CTpyKTYpHO B IEJISX JIYYILErO BOCIPUATHUS COJIEPIKAHUS MOCOONE COCTOUT M3 3 YaCTEH.
[TepBas gactp BkItoUaeT B cedsi 20 ypokoB, BTOpasi — MOYPOUYHBIN IpaMMaTHYECKUN CIIPAaBOYHUK,
TPEThS YaCTh — MOSCHEHUSI U KOMMEHTapuu. KaxIplii ypOK UMEeT CIEAYIONIYI0 CTPYKTYPY: CIIO-
Bapb, OCHOBHOW TEKCT, MOCIETEKCTOBbIE YIPa)kKHEHUS. B MOypOYHBIX KOMMEHTapHsIX MPEICTaB-
JICHBI: JICKCUKO-TPAMMATHUECKUN aHAINU3 TPEJIOKCHUN, TEePMUHBI U METOJIbI MX TIEpeBoja Ha
PYCCKUH SA3BIK.

TekcThl cHaOXeHBI TOPOOHBIM TTOTEKCTOBBIM CIIOBApPEM, YTO JaeT BO3MOKHOCTh YUTATh
TEKCThI JIaXKe MPU OTPaHUUYEHHOM CclIOBapHOM 3amnace. [locieTekcToBble ynpakHEHUs CIocoOCT-
BYIOT JIYYIlIEMY TOHUMAHHUIO TEKCTa, HAMIPABJICHBI HA OBJIAJICHUE CIIOBOOOPA30BaTEIHHBIMU dIIe-
MEHTaMH, COJIepKaT 3a/laHusl, pa3BUBAIOLIUE HABBIKU (D (PEKTUBHON KOMMYHHUKAIIH.

[TocoOue Taxxe MmpencTaBiseT HHTEPEC IS MIUPOKOTO KPyTa JIHII, U3YYAroIIUX aHTIINii-
CKHUH S3BIK CAMOCTOSITENILHO.



PART |

LESSON 1

|. Words for understanding the text.

1. dirty IPSA3HBIN
2. poison s

3. dust IbLIb
4. cold MPOCTYy/1a, HACMOPK

5. cough kamens

6. disease Oose3Hb

7. lung JIETKOE

8. hurt PUYHHATE O0JIb, BPE
9. plant  pacrenue

10. dirt IpsA3b

Il. Read the passage to find out whether the folloimg statements are true or false.
Air pollution
comes from smoke in the air
comes from poison gases and dust
makes dirty air
helps people stay healthy
can affect the heart
hurts only people
Air Pollution
What is air pollution? It is dirt in the air. This a big problem in some parts of the world.
What causes air pollution? People cause it by bgrifiuel in buses, cars, factories, homes,
schools, and trains. The smoke from burning fusl @ison gases and dust. These enter the air
and make it dirty.
Why is air pollution bad? The dirty air hurts peaplt helps to cause more colds, coughs,
and diseases of the heart and lungs. It also platds and animals and makes clothing and build-
ings dirty,

lll. Check your understanding.

1. Answer the questions:
1. What causes air pollution?
2. Does the smoke from burning fuel have poison?
3. Why is air pollution bad?

2. What's the missing? Find the missing nouns inethext:
1. cause it by burning fuel
2. The___ from burning fuel
3. Poison and dust
4. to cause more colds, , and diseases
5. makes and building dirty



IV. Enlarge your vocabulary.
1. Circle the correct answer.

1. Dirt in the air is called (a) disease; (b) pollutigc) gases.

2. Burning fuel comes from (a) dust; (b)coughs; (asca

3. Smoke carries (a) poison colds; (b) poison gasgqdison plants.

4. Dirty air is bad for the (a) hands and feet; (maiand legs; (c) heart and lungs.

. Give your own answeiVhat is air pollution?

LESSON 2

|. Read the following words and expressions.

to play an important
society

to entertain smb.
to influence smb./smth.

PR

5. in other words

6. to shape public opinion
7. to dominate

8. most of the time

9. habit

10. to resist smb./smth.

11. audience

12. sentimental drama
13.commercial firn

14. to promote

15. benefit

16. to convince smb. of smth.
17. to persuade

18. dozen

19.to bore smt
20. little artistic valut

21. to dispute smth.

22. to show films, comedies

23. there are four separate T
channels

24.t0 provide

25. a programme for local i

26. it is a waste of time weh-
TV

27. to agree on the whole
28. valuable

urpaTth BaXXHVIO DOJIb
00111eCTBO, OOILIECTBEHHBIN CTPOH

pa3BieKaTh KOro-1mbo

BJIMSITH, OKa3bIBATh BIIMSHUE HA KOTO-
1160/9T0-1100

JIPYTHUMH CIIOBaMU, MHAYE TOBOPS;
(dbopMHUpOBaTh OOIIECTBEHHOE MHEHHE;
npeoOIagaTh

OoJibIast YacTh BPEMEHHU

NPUBBIUKA

CONPOTUBIISITECSI, OKA3bIBaTh COMPOTHUBIIE-
KOMY-TH00/4eMy-11u00

ayauropus (my0imka)

MeloIpaMa

KOMMepyecKas bupma

MOMOTaTh, COJIEHCTBOBATH

BBIT0/1a, TIOJTb3a

yOeauTh KOro-Tub0 B 4eM-1100
yOexaaTh, yroBapuBaTh

JIFO)KMHA

HanoenaTs KOMV-I00. HaroHsITh CKVKY.
HE UMETh HUKAKOH XVI0KECTBEHHON
LEHHOCTH

00CYKIaTh YTO-THO0, CTABUTH TIO]T
COMHEHHE, OCTIapUBaTh YTO-THOO0;
MOKa3bIBaTh (UIbMBI, KOMEIUN

€CTb YETHIPE OT/IENbHBIX KaHata Ha TB;

o0ecreunBaTh
MECTHas IporpaMma

3TO IOTEPSI BDEMCHU CMOTPETH TCIIEBU30D,

COTJIalIaThCS B IIETOM
MPEACTABIISIIOIINN HHTEPEC
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29. informative amusing HHGOPMAIIMOHHBIN pa3BiIeKaTeIbHbIH
30. effective MPOM3BOISIIHI BIICYATICHUE

31. mass media CpejcTBa MacCcoBOM HHpOpMALUU

32. vital HACYIIHBIN, TEPBOCTENICHHON BaKHOCTH
33. to raise a problem OTHUMATh TIPOOJIEMy

34. to talk politics 00CYX1aTh MOJIUTUIECKUE COOBITHS

35. smb's views (on smth.) YbH-THO0 B3MISIAbI (HA YTO-THOO)

36. scientific HAYYHBIN

37. development pa3BUTHE

38. to reach agreement IPUXOIUTH K COTJIALICHUIO

39. plan for smth. IUTaH OTHOCHUTEIILHO Yero-In0o

40. in protest against smth. B 3HAaK MMPOTECTa

41. to solve a problem petaTh npodiemy

42. treaty (on smth.) JIOTOBOP O YeM-THO0

43. disaster katactpoda, beacTBrE

44. to call for smth. NpU3BIBATh K YeMY-JTH00

45. to ensure order (stability, securi§}crneunBars mopsaok (CTaOMILHOCTH,0€30MACHOCTB)
46. (foreign, home) policy BHEIIIHSS, BHYTPEHHSIS) MOJUTHKA

Il. Read the text and translate the new words andxressions in it.

Television in our Life

Mass media (that is the press, television and jgaday an important part in the life of so-
ciety. The television informs, educates and entestpeople. It also influences the way people
look at the world and makes them change their vi&esne people say, "news is not what hap-
pens - it is what you see or read in mass mediaother words, television shapes public opinion.

Millions of people in their spare time watch TV arghd newspapers. TV dominates a per-
son's life if the family watches it most of the &nTV set is not just piece of furniture. It is also
a habit-forming drug impossible to resist.

Various TV games, such as quiz programmes, atréarige audience. During TV quiz pro-
grammes the questions are answered by the viewers.

Then there are daily TV serials known as soap agpdiaey are sentimental dramas featur-
ing domestic problems of a group of people. Sonmpleefind them boring; others consider them
to be good entertainment and relaxation.

There is also a lot of advertising on TV. Some caruial firms buy time to advertise
their goods.

Advertising promotes business and benefits businessut often annoys the general pub-
lic. The play you are watching on TV may be intetad several times by an appeal to use a new
perfume or detergent.

To convince a viewer that a certain product iskibst and to persuade him to buy it takes
not only a lot of imagination but also a lot of &nirhe same advertisements are repeated dozens
of times every day, which bores viewers.

But it is hardly fair to say that TV doesn't try taise the cultural level of people or to de-
velop their artistic taste. Many of TV programmes excellent: they are made in good taste and
with great professional skill. Television bringgamillions of homes not only entertainment and
news but also cultural and educational programmes.

There are a lot of useful educational programme3¥n TV course in history, political
economy, management and in many other subjects.



10

lll. Check your understanding.
1. Answer the questions:(Use the sentences fromtéxt)
1. What is the function of television?
2. How do you prove that life of a family is domied by television?

3. What can one see on TV?
4. Why do people often find programmes boring?

2. Complete the phrases, choosing the expressiorseatences in brackets:
1. Television is often criticised for gthoor educational and artistic value of
programmes; devoting too much time to advewgisinot raising a cultural level of people).
2.In our spare time we (watch televisiontgthe theatre; go to the cinema; listen to the
music; pursue our hobbies).
3.0n TV one can see (educational filmg gubgrammes; advertisements).
4.A soap opera is (tragedy; a comedy; adraina; exciting and emotional; boring,
interesting).

IV. Enlarge your vocabulary.
Here is a list of different TV programmes.
Current affairs
Documentary
Sports
Educational film
The arts
News

a) Give a brief description of each kind of programes.
ExampleCurrent affairs. These programmes deal with padiegl society. Their aim is to ana-

lyse problems and to show viewpoints.

b) Use these expressions in your description:
1.These programmes deal with
2.Their aim is to give
3.They are concerned with
4 They also include

c¢) Say which programmes do you usually watch and why?

LESSON 3
|. Words for understanding the text.
1. concern KacaTbCs, UMETh OTHOUICHUEC, UHTCPECOBATH
2. to invent n3o00perarhb
3. could hardly have imagined €/IBa JIM MOT TIPE/ICTaBUTh
4.modem COBPEMEHHBIN
5. reason MpUYHHA
6.descendant MOTOMOK
7.human beings JIOH

8.no man alive HUKTO HAa CBETE
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9.in fact (baKTHYECKH, HA CAMOM JIeJIe
10. wages 3apa0oTHas 1uaTa

11. scholar YUEHBIN

12. to reduce YMEHBIIIATh

13. expert CIEIUATUCT

Il. Read the text and find the information to the following questions:
1) Who invented the first calculating machine?
2) Why are computers being used more extensivelyarworld?
3) Can man do 500, 000 sums in one second?
4) How do computers concern people in their dagd and work?
5) Are computers a great help to scholars in theédaaf science and maths?
6) How is it possible to find a book or article yeuickly?
7) Are there systems to translate articles fromeitpr magazines by a computer?

Computers Concern You
When Charles Babbage, a professor of mathematiCauimbridge University, invented the

first calculating machine in 1812 he could hardiyé imagined the present-day situation. In the
modern world we do and control everything with tiedp of computers, the complicated descen-
dants of his simple machine. People use computers and more extensively in the world to-
day, for the simple reason that they are far mdfreient than human beings. They have much
better memories and store huge amounts of infoamaéind they do calculations in a fraction of
the time taken by a human mathematician. No mas aloes 500,000 sums in one second, but
an advanced computer does. In fact, computers diy wiathe things we do, but fast and well.
They pay wages, reserve seats on planes, contrchings in factories, work out tomorrow's
weather, and even play chess, write poetry, or cs@pnusic. Let's look now at some of the
ways in which computers concern people in theilydaies and work.

Chief inspector Harston talks about ways in whidmputers help the police fight crime.
Members of the public often think of detective wak fast and exciting when most of it is slow
and boring. For example, a detective staden car case checks through long lists of in&drom,
and in the time it takes him to do this the thiefynwell escape. With the new National Police
Computer we are now able to find out details of@anership and driving licences in a fraction
of the time it takes by traditional methods. Inipelwork speed is often essential, so computers
are ideal for catching criminals.

Many people associate computers with the worldcedreee and maths, but they are also a
great help to scholars in other subjects, in hystbrerature and so on. It's now possible for a
scholar to find a book or article he needs vergkjyi which, when a million or more new books
are published each year, is quite an advantageeshe system controlled by a computer, of giv-
ing books a code number, reducing them in sizeutyng them on microfiche, and then storing
3,000 or more in a container no bigger than a wagsiiachine. You tell the computer which sub-
ject you're interested in and it produces any nfiicihe you need in seconds. There are also sys-
tems to translate articles from foreign magazinea bomputer, and to make up the many lists of
information that are needed in a modern libraryc&mputers help us to deal with the knowledge
explosion in many ways.

lll. Check your understanding.
1. Look through the text more carefully and tell wther the following statements are true,
false or the information is not given in the text.

a) Charles Babbage invented the first calculatiagimme in 1812.

b) We don’t use computers extensively in the wtoldhy.

c) Computers have much worse memories than hunmagse
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d) Man does 50,000 sums in one second, but an edsaromputer can't.
e) Computers concern people in their daily lives aork.
f) People don’t associate computers with the wofldcience and maths.

g) There are systems to translate articles fromforgegn language into another.
h) The graphic computer offers the most flexibleamge of communication between man and

machine.

i) Ten years ago work for extremely powerful andteeffective computers concen-

trated on new architectures.

2. Match parts of sentences from column A with padf sentences from column B.

A

B

1. Charles Babbage invented ...

2. People use computers ...

3. No man alive...

4, They (computers) ...

5. There are also systems ...

1. does 500,000 sums in one second.

2. pay wages, reserve seats on planes,
pose music.

3. the first calculating machine.

4. more extensively in the world today.

5. to translate articles from foreign magees
by a computer.

IV. Enlarge your vocabulary.

1. Find the nouns, verbs, adverbs and adjectives:

invent hardly
extensively efficient
compose daily
associate knowledge
calculation concern

sition

traditional

reserve
container
detective

2. These words can be more than one part of spe&tdke up sentences showing it.

Help, control, use, store, play, work, subject.
e.g. He often helps me with my computer studies.
His help is always very useful.

3. Group any words which go together:
a)foreign
b) modern
¢) human
d) an advanced
e) a washing
f) world
g) computer
h) machine
i) magazines
) beings

com-
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4. Give your own answetre you a PC user? What do you use your compuiter fo

LESSON 4
|. Words for understanding the text.
1. cast-off HEHY>KHBIH, OpOCOBBII
2. software IPOrpaMMHOE 00eCTICUCHHE
3. proverbial BOILE/IINIA B TOTOBOPKY, OOIIIEH3BECTHBIH
4. white elephant Joporast Oecrioyie3Has Bellb
5. in spite of HECMOTpS Ha
6. e-mail anekTponHas mouta (by e-mail —10 371. moure)
7.to solve pemaThb
8. to arise OIHUMAThCS
9. confiden YBEPEHHBII
10. ability CIIOCOOHOCTH
11.to explore HCCIIEI0BATh
12. to be in touc KOHTaKTHPOBATh
13. message MocliaHue, COOOIICHHE
14.brag XBacTaThCS
15. amazed YAUBJICHHBINA, TOPAXKCHHBINA, U3YMJICHHBII
16. to conquer MTOKOPSATH
17. to install YCTaHOBHTH
18. modem MOJIEM

Il. Read the text and say whether there is any infonation in the text:
a) concerning rules of sending e-mail?
b) how Gwen learned to use the computer?
¢) showing that Gwen learned a little terminology?
d) about the family of Gwen and Tim?
e) about their town?
f) about computer games?

Computer

Gwen and her husband Tim live in a small town ino€alo in the USA. When Gwen was 77
years old and her husband was 84, their daughtertgam a cast-off computer and some software.
Gwen and Tim were not much interested in it and gengift as the proverbial "white elephant”.
Their first responses were "Don't need one". "Wasg it". "I'm too old to learn".

In spite of their protest, their daughter left dtwmputer with them. She says: “The computer
makes it possible for you to be in communicatiothwie when I'm on duty in London with my job,
as well as with your grown children who live irffelient parts of the country”. She explained to
them how to use the computer, but they didn't saowinterest in it.

Some time later Gwen decided to try the computevak not easy. At first Gwen was afraid to
“break” the machine. She called her son-in-law asked him some questions about using e-mail.
She learned the basics of computer communicatidrieamned to solve problems which arise in the
process of work with a computer.

After three months she sent e-mail to her childeenephew, and anyone she could reach. She is

now so confident in her abilities that she is exptp new ways of getting information with her
computer.
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Gwen says: "E-mail allows me to be in touch witbgle every day. It allows me to communicate
regularly with my son who has health problems.d'deait a certain time of day to call. | send and
receive messages at any time".

And Gwen has a right to brag. When she goes tackhor community social events and tells
people about the computer, they are amazed aa¢héhat she can learn something like that.
She learnt a little terminology and can talk togeovho know something about the computer.

She conquered the technology. Now Gwen is plantarigstall a modem, join Internet and ex-

plore the net.

lll. Check your understanding.
1. Agree or disagree to the statements accordinthtext.
a) Gwen and her husband Tim live in a big cityhie USA.
b) Their daughter gave them a cast-off computertheg were much interested in it.
c) In spite of the parent's protest their daugleithe computer with them.
d) After three months she did not send e-mailetodhildren.
e) E-mail allows Gwen to be in touch with peoplemwday.
f) People are not amazed at the fact that she amthdeceive messages.

2. Match the words on the left with their definitis on the right.

a) modem a) a system that allowssangss to be sent from one computer to another;
b) software b) feeling certain;
c) e-mail c) a piece of electronic equgmmthat allows information to be sent from one

computer to another;
d) confident  d) a piece of news;
e) hard disk e) a part inside a compiltatr can store technology, information;

f) information  f) the programmes that ymut into computers to make them do the job you
want;

IV. Enlarge your vocabulary.
1. Find word combinations in the text which meanetollowing:

UX a04b oCTaBujIa UM KOMHBIOTep; B3pPOCJIbIC ICTU, OHU HC MMPOSABUIIM HUKAKOI'O UHTCPC-
ca, OCHOBBI KOMIIBIOTEPHONH KOMMYHUKAIIUH, UCCIEAYET HOBBIC CITOCOOBI MONydeHUs nHQpOopMa-
IIUH Yepe3 KOMITBIOTED; PETYISIPHO OOIIATHCS ¢ CBIHOM; OTIPABIIATH U MOJy4aTh IMOCIAHUS B JIIO-
00€ BpeMs; HEMHOTO TePMHHOJIOTHH; OOIIIECTBEHHBIE COOBITHS.

2. Give your own answets it difficult to learn how to use the computét@w much time a day do
you spend in front of the computer? What are theaathges and disadvantages of computers?
Use these expressiongive access, get virus, let communicate quicklyedoyail, fail, lose all
work, do some tasks, multimedia, virtual realitpsolete fcmapeswuii), update, replace, store
in database, criminal, Internet.

LESSON 5
|. Words for understanding the text.
1. main OCHOBHOI, I'JIABHBII
2. desk computer MajorabapuTHas cdeTHasi MallHa

3. to carry out BBIIIOJIHSTD, JICJIaTh
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4. computation BBIUHCIICHHUE, PacyeT
5. to believe IyMaTh, MOJIaraTh
6. to accept MPU3HABATH

7. to store 3aracarb, XpaHUTb
8. accessible JTOCTYITHBIN

9. toreplace 3aMEHSTh

10. advent MPUXOJ], TPUOBLIH
11. to solve pemaThb

12. to workout pa3pabarbIBaTh
13. development pasBUTHE

14. as for YTO KacaeTcs

15. branch 001acTh, OTpacib
16. side by side psaoM, 60k 0 00K
17.valuable LIEHHBIN

Il. Read the text and look for answers to these q@tions:
1) What is the main characteristic of the present-gtomputerization” in the West?
2) How does the desk computer function?
3) What does further development of the computzd te?
4) What will the creation of the domestic compurtetustry allow to solve?
5) Will we organize the educational process onva basis?
6) What will allow to have the contents of bookwsgazines and articles fed into the com-
puter memory?
7) What is the advantage of minicomputer?

Will the Desk Computers Think Instead of Us?

One of the main characteristics of the presentglalyal “computerization” in the West is
the boom in domestic computers. The desk computeatibns as your personal librarian, carries
out simple optimization computation, controls ybuidget or diet, plays several hundred games,
etc. Further development of the computer will léaa situation in which most of the knowledge
accepted by mankind we will store in computers arake accessible to anyone with a home
computer.

Communication between man and a computer will eptace man's creative abilities but
will expand them. It is natural that the adventnohicomputers with extensive memories and
possibilities will lead to a new higher level ifonmation culture. The creation of the domestic
computer industry will allow a lot of problems inlture and education to be solved. Among oth-
er things, we will organize the educational prodesthe country's colleges and universities and
also in the system of school education on a newgbas

Working out computerized models of materials stddg schoolchildren or students will
allow us to see the results of this instructioraaisplay screen, ake understanding of the ma-
terial very simple and make the development ofeative approach to the studying of know-
ledge and its application easier.

As for the information in various traditional brdmes of knowledge, the application of
electronics will allow side by side with the tradial printed material to have the contents of
books, magazines and articles fed into the computmory, where this will be analysed, ar-
ranged in a certain order, stored and produce@éguest as a printed computer programme.

Knowledge is the most valuable wealth of our tirmaed minicomputers will help to make
it accessible to everyone.

lll. Check your understanding.
1. Agree or disagree to the following statementstba text beginning with:
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| agree with you
| think, you are mistaken
| am afraid that you are wrong
| don't think you are right
| don't think so
| think you are right
a) The boom in domestic computers is one of the mia@macteristics of the present-day global
“computerization” in the West.
b) The desk computer cannot function as your perddaratian or control your budget or diet.
¢) Communication between man and computer will reptaaa’s creative abilities.
d) The creation of the domestic computer industry afilbw to solve many problems in cul-
ture and education.
e) The application of electronics will not allow toveathe contents of books fed in the com-
puter memory.
f) Minicomputers will help to make knowledge accesstiol everyone.

2. Make up sentences by matching the informatioorn a) and b):

A B

1. One of the main characteristics of a) will expand man’s creative abilities
global “computerization” ...

2. The desk computer can function ... b) will allow to solve a lot of problems in

culture and education

3. Communication between man and c) to make knowledge accessible to
computer.. everyone

4. The creation of the domestic computer d) as your personal librarian
industry ...

5. Minicomputers will help ... e) is the boom of the domestic computers

3. Complete these sentences using information fritra text:
a) The boom in domestic computers is ...
b) The desk computer functions as ...
¢) The advent of minicomputers with extensive maesoand possibilities will lead ...
d) Working out computerized models of materiald aliow us ...
e) As for the information in various traditional bcdres of knowledge, the application of
electronics...

IV. Enlarge your vocabulary.
1. Give Russian equivalents to the following wortbgps:

the main characteristics, domestic computers, paftddorarian, man's creative abilities,
the advent of minicomputers, information culturdptof problems to be solved, the system of
school education, a creative approach, the apmicatf electronics, the traditional printed ma-
terial.

2. Give the noun forms of the following:
develop, communicate, create, educate, instruptyap

3. Give your own answefVill communication between man and computer replaan’s crea-
tive abilities?
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LESSON 6
|. Words for understanding the text.
1. chip-run MHKpOcXeMa
2. pin OynaBka
3. wrist 3arsICThe
4. glasses OYKH
5. earring cepbra
6. to release BBIITYCKATh
7. to surf the Internet Oponuthk o HTEpHETY
8. headlines KpaTKoe COJIepKaHUe BBITYCKA MOCIEIHUX U3BECTHI
9. to follow the stockmarket  crmeauts 3a ypoBHEM IieH Ha OHpXKE
10.to download 3arpyKaTh, «CKauuBaTh»
11. bank account OaHKOBCKHUH cUeT
12. neural network HEHpOHHAs CEeTh
13. to identify criminals yCTaHaBJIMBATh MPECTYITHUKOB
14. Silicon Valley Cunukonosas JlonuHa (eHTp KOMITBIOTEPHON HHIYCTPHH,

pacrionoxeHHbli B paiione Can-®pannucko, KanudopHus)

Il. Read the text and look for answers to these q@tions:
a) Do we imagine life without computers?
b) What was the first computer like?
¢) What country develops wearable computers?
d) What allows you to surf the Internet as welt@smake calls?
e) What will the next generation computers do?
f) What will such computers help to do?
g) Where do most of computer terms come from?

The Language of Computers
50 years ago, people didn't even hear ofpeterns, and today we don’t imagine life
without them.

Computer technology is the fastest-growing industryhe world. The first computer was
the size of a minibus and weighed a ton. Todayjoliscan be done by a chip the size of a pin
head. And the revolution is still going on.

Very soon we'll have computers that we'll wear anwrists or even in our glasses and ear-
rings. The USA develops such wearable computers.

Japan's big mobile-phone company released its restvgoroduct, the i-mode, a mobile
phone that allows you to surf the Internet as welmake calls. People are already using a phone
to check news headlines, follow the stockmarketd@dmanload the latest jokes. They will buy ci-
nema tickets and manage their bank accounts.

The next generation of computers will talk and etrenk for themselves. They will contain
electronic “neural networks”. Of course, they'll4tdl a lot simpler than human brains, but it will
be a great step forward. Such computers will helgiagnose illnesses, find minerals, understand
and control the world's money markets, identifyrenals and control space travel.

Computer revolution is changing our life and ourgaage, too. We are constantly making
up new words or giving new meanings to old onesstMxd computer terms come from Silicon
Valley, the world's top computer-science centre.

lll. Check your understanding.
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1. Agree or disagree to the statements:
a) When you use the Internet, you need a compaitadio and a phone line.
b) You use the Internet to read newspapers and zivegga
c) You don’t use the Internet to play video games.
d) The Internet helps you to do shopping.
e) You use the Internet to "chat" with people arakenew friends.
f) You need a CD to send e-mail.
g) Multimedia pages with pictures, music and videake down-loading slow.

2. Make up sentences by matching the informatioorin a) and b):

a)chat room a) the ability of computer to saveral programmes at once
b)e-commerce b) the screen you see after gawwtched your on computer
C) joystick c) an area on the Internet whexegbe can communicate with

each other in "real time"
d) cyberspace d) the business of buyingsafithg goods and services on the
Internet
e) desktop e) a stick which helps you moveamputer games
f) multitasking f) the imaginary place wherectlenic messages, information pictures,
etc. exist when they are sent from one computantther

IV. Enlarge your vocabulary.
1. Give Russian equivalents to the following wortbgps:
Computer technology, the size of a pin head, a lmgifione, follow the stockmarket,
manage bank accounts, generation of computers,bnaa, space travel, computer terms.

2. Match notions and definitions:

T a flame aJ1s to start a comput

Z amous b) 1S To move around the nter|

3.t0 boo C) 1S @ person wno KNows everytning abol
computer

4. a bug d)1s a small inse

5. 10 suf eJ1s to ride on board of the waves of the

b.a geel f) is someone who bites the heads of alive

chickens as a part of a show

g) is an error in a computer programme

h) is a small furry animal with a long tail

i) is to kick

K) 1S a red or yellow burning gas seen w
something is on fire

1) 1s a small box used to opte a compute

m) is an unfriendly or rude e-mail

3. Choose an answer —a, b or c.
1.What is the modem used for?

a) to print a document

b) to play music on your computer
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c) to send messages along a telephone line
2. What do you use when you want to look for siieshe World Wide Web?
a) a browser
b) a CD ROM
C) a printer
3. What can the Internet be used for?
a) to delete a file from your computer
b) to help you find information and communicatehwpeople
c) to make your computer work faster
4. What is the scanner used for?
a) to transfer photos and texts to your computer
b) to find certain files on the Internet
c) to clean your computer
5. How much is a gigabyte?
a) 1,000 megabytes
b) 100 megabytes
c) 1000 bytes

4. Give your own answerAre you a part of computer revolution? How is caiep revolution
changing our life?

LESSON 7
|. Words for understanding the text.
1. to contain CoZepIKaTh
2. the same OJIMHAKOBEIN, TOT YK€ CaMBINA
3. torealize MPEJCTaBIATh ceOe, MIOHUMATh
4. average CpeIHHI
5. to expres: BBIPAXKATh
6. to belong NPUHAJICKATh, OTHOCUTHCS
7. toreceive oJy4ath
8. torevolve BpalaThCs
9. to shine CBETHUTH
10. reddish KpacHOBATBIN
11. to appear MOSABJIATHCS
12.to close MOJIXOIUThH OJIU3KO
13.to vary MEHATHCS, H3MEHATHCS
14.to take place MIPOUCXOUTH, CITyIaThCsI

Il. Read the text and answer the questions:
a) What chemical elements do the stars contain?
b) What scale do the astronomers use to expressdjstances?
¢) What does "the family of the Sun" consist of?
d) What does our solar system consist of?
e) What is the closest planet to the sun?
f) What can you say about Mercury?
g) What is the largest planet in the solar system?
h) Does the appearance of Mars vary from {egear?
1) Is there plant life on Mars?
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j) When was the last opposition of Mars?

The Solar System

The Sun is a star. There are many thousands af istdhe sky that are like the Sun. They
are as large as the Sun, as hot as the sun araircti;t same chemical elements. The Sun is a
great mass of white hot matter. The temperatutieeaBun'’s center is as high as 10,000.000 C°

The sun is much nearer to us than other stars. ifhahy we think that it is bigger and
brighter than other stars. The average distancbeofun from the Earth is as much as 150 mil-
lion kilometres. It is difficult to realize suchdastance. But it is much more difficult to realize
the distances of the stars which are millions ailloms of kilometres still farther away. To ex-
press these great distances the astronomers @sg much larger scale than kilometres. Nothing
in the world moves faster than light. It movests tate of 300,000 kilometres per second. So
the astronomer's unit of measure is one light yibardistance that light travels in one year. This
distance is a little less than 9.5 million kilonestr Most of the stars are thousand light years
away from the Earth. It is hard to realize thasthare not the greatest distances in the world.

Our sun and our Earth, our moon and the planetsearseand comets belong to the «family
of the Sun» which we call our «solar systemx.

Our solar system consists of nine planets and theons. The closest planet to the Sun is
Mercury. No other planet receives more light andthiean this one. It is the smallest of the pla-
nets. Mercury revolves around the sun dtigher rate of speed than other planets. Its speed
much higher than theirs.

Jupiter is the largest planet in the solar sysiéemus is not so large as Jupiter, but it is the
brightest planet in the sky. We see its quiet lighthe morning as well as in the evening. When
it is in the West it is the first point of light wdlh we see in the evening.

We see it best of all on a dark night. The darkernight grows, the brighter it shines and
the better we see it. When Venus appears in theiEaspossible to see it in the early morning
hours as well.

Mars shines with a reddish light. The appearancklafs varies from year to year. It de-
pends upon the distance of the planet from thene#iricloses to us every two years and two
months. At such times Mars looks like a red lamhm sky. The telescope reveals bluish mark-
ings on the planet. They vary with the changeseagens. Mars has an atmosphere though it is
not so dense as that of the Earth. Most astronothiis that there is plant life on Mars.

The last opposition of Mars when it is tlearest to the Earth took place at the beginning of
September 1956. Astronomers of the entire worlcendesl Mars and took photographs of the
planet.

The result of their most important obseaoratwill help them to make a better study of the
nature of Mars.

lll. Check your understanding.
1. Look through the text more carefully and decigdhether the following statements are true
or false or the information is not given in thexe
a) Thousands of starts contain the same chemigaleglts as the sun.
b) The temperature at the sun's center is not high.
c) To express great distances the astronomersiloseekers.
d) The distance that light travels in one year igtie lless than 9,5 million kilometers.
e) Our solar system consists of five planets.
f) Mercury is the smallest of the planets.
g) The brightest planet in the sky is Jupiter.
h) Mars has a dense atmosphere.

2. Complete these sentences:
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a) Thesunis ...

b) The temperature at the sun's center is ...
c) It is difficult to realize the distances...

d) Most of the stars are...

e) “The family of the sun” consists of...

f) Mercury revolves around...

g) When Venues appears ...

h) Mars shines ...

i) The last opposition of Mars...

IV. Enlarge your vocabulary.
1. Give the noun forms of the following:
express, contain, realize, move, revolve, appdmemve.

2. Find words in the text which have the same mgays to the following:
similar, substance, to understand, to employ, qupked, to get, to occur

3. Give Russian equivalents to the following wortbgps:
chemical elements, hot matter, at the sun's cetfiieraverage distance, it is difficult to
realize, great distances, at the rate, per sedighd year, it is possible to see, morning hours.

4. Pay attention to the degrees of comparison arahslate the phrases:
As large as the sun, is much nearer, it is biggerch more difficult to realize, still
farther away, much larger scale than, faster tigir,la little less than, greatest distances, the
closest planet, the darker ... the brighter.

5. Give your own answelDo you know what the distance of the sun frontdrgh is?

LESSON 8
|. Words for understanding the text.
1. digital computer U (pPOBON KOMIIBIOTEP
2. attempt [IOIIBITKA, OIBIT
3. Paul Nipkow [Mayns HunkoB, HeMeIKuil HHXKeHep
4. to spin BpaIarbes
5. revolutions per minute 000pOTOB B MUHYTY
6.sequence pAl, YepeoBaHue
7. sequential MOCJIEAOBATEIBHBIN
8. sample obpasen
9. selenium cell CEJICHOBBIH ()OTOIIIEMEHT
10. succession 10CJIEI0BATEILHOCTD, PSI/T
11.to propose npeajiaraTh
12. to vary W3MEHITh, MEHATH
13. to transmit nepenaBaTh
14. receiver TEJICBU3UOHHBINA TPUEMHHUK, TPyOKa
15. CRT-cathode-ray tube 3JIEKTPOHHOJIyY€eBast TPyOKa
16. to store XpaHHTh, 3a11aCaTh

17. charge 3apsiz
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18. to induce BBI3BIBATh, BO30YXK/1aTh
19. electron beam 3JIEKTPOHHBIN MTyJYOK

Il. Read the text and find answers to the followingyuestions:
1.Was television an electrical medium or mechanieaiak from the very beginning?
2.Who was the first to patent the "electrical telgsx@
3.Why did Nipkow propose using a magneto-optic ligifetdulator?
4. What TV system did Boris Rosing develop?
5.What was the most critical invention in 1923?
6.Who invented the kinescope?

From the History of Television

Unlike digital computers - which started out as hatcal devices and then went through
a brief electromechanical period during the 1988s]ly becoming electronic only in the 1940s -
television was an electrical medium from the vesgibning.

Attempts to send images over distances with theofigdectricity date to 1876, the year
Alexander Graham Bell invented the telephone.

The first television invention that had practicainsequences was the "electrical tele-
scope", patented by Paul Nipkow in 1884. At therheh his camera was the now famous
Nipkow disk. It had 24 holes equally spaced alosgieal near the periphery of the disk. The im-
age to be transmitted was focused on a small regiche disk's periphery, and the disk was
made to spin at 600 revolutions per minute. Asdisk rotated, the sequence of holes scanned the
image in a straight line. A lens behind the imaggion collected sequential light samples and fo-
cused them on a single selenium cell. The cell dithén produce a succession of currents, each
proportional to the intensity of the light on afdrent element of the image.

At the receiving end, Nipkow proposed using a mégjoptic (Faraday-effect) light
modulator to vary the intensity of the reconstrdcimage. To form the image, a second disk,
identical to and rotating synchronously with the @t the transmitter, would be needed.

One step closer to reality was Boris Rosing frone fhechnological Institute of
St.Petersburg in Russia, who in 1907 developedthsystem that used mechanical scanning on
the transmitting end and the Braun CRT as a receive

Zworykin's most critical invention was the firsbimoscope camera tube, which he pa-
tented in 1923. The key to its success was thetffiattits silvered-mica photocatodes stored the
charges induced by the image that was focusedem thtil the scanning electron beam simul-
taneously neutralized the charges and modulatefd. its

A year after Zworykin invented the iconoscope, inented the kinescope - a TV pic-
ture tube - thus becoming responsible for bothkehetransmitting elements and receiving ones
of the electronic television.

lll. Check your understanding.
1. Put Tor F to indicate whether the statementsldw are true or false according to the facts
in the text:
a) Television started out as a mechanical device ttwenvery beginning.
b) Alexander Graham Bell invented the telephone in6187
c) At the transmitting end Nipkow proposed using a nedg-optic light modulator.
d) Boris Rosing developed a TV system that used coenmaanning in 1907,
e) Zworykin's most critical invention was patentedlBR3.

2.Find words in the text which have a similar meaug to those below:
look through various
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to change at last
to sugges

to make use of
to transform

3.Complete these statements according to infornragiaven in the text:
a) At the heart of his camera was....
b) It had 24 holes equally.,.
c) The image to be transmitted was focused...
d) As the disk rotated...
e) A lens behind the image region collected...
f) The cell would then produce ...
g)The key to its success was...
h) Zworykin invented a TV picture lube...

IV. Enlarge your vocabulary.
1. Group the words which go together:
electronic invention

digital modulator
mechanical telescope
light computer
electrical device
critical television

2. Use a dictionary if necessary to make sure yoow the meaning of these words and phras-
es used in the text:
the image to be transmitted
disk's periphery
sequence of holes
intensity of the light single selenium cell
succession of currents disk, rotating synchronously
transmitter
silvered-mica photocatodes
scanning electron beam
transmitting and receiving elements

3. Give your own answerHow important is television to you?

LESSON 9
|. Words for understanding the text.
1. equipment o0opyI0BaHHE
2.to hold up OCTaHABIIMBATh, 33JICP)KUBAThH
3. viewers 3pUTENnu
4. to afford MI03BOJISTH
5. no doubt 0e3 COMHEHUs
6. to supersede BBITECHSTh

7. flat [LIOCKUU
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8. conventional receiver box  o0ObIuHBIi TETECBU30D

9. fluorescent coating JFOMHUHUCLIEHTHOE TIOKPBITHE
10. angle yroja

11. electronic gun AJIEKTPOHHAS MyIITKa

12. reversing lens PEeBEpCUPYIOIIAs JINH3A

13. to accumulate HaKaruIMBaTh

Il. Read the text and find answers to the followingyuestions:
1. Who was the first scientist to take license fonsraission of images in colour?
2. When did America first transmit television prograes in colour?
3. When did Britain start its regular colour service?
4. Did Russia introduce a colour television service?
5. What kind of screen will replace the conventiomalaiver box?

Colour Television

The technical problems of colour television werbvagd long ago - a German patent for
the transmission of images in colour was takenbguhe physicist, Otto von Bronk, as far back
as 1902 -but the high cost of the equipment, eapgceceivers, held up its general introduction.
In America, television programmes in colour haverb&ansmitted since the early 1950s to a li-
mited number of viewers who could afford the exdost, and an experimental service began in
Britain in 1955. Japan started its regular colamvige in the autumn of 1960: a year later there
were already 15000 receiving sets in operatiomoalgh the price of a colour set was still eight
times as much as that of a black-and-white receiMeen Russia, too, introduced a colour televi-
sion service.

No doubt colour television will eventually supersdalack-and-white transmissions. But
there are other revolutionary developments to casneh as the flat screen-it will replace the
conventional receiver box with its cathode-ray tubee first screen, which can be hung on the
wall like a picture, may be no more than 2 to hexthick. It has a fluorescent coating like con-
ventional tubes, but the electrons from the cathudege almost parallel with it instead of strik-
ing it at a right angle. They start their journegm an “"electronic gun" at the top behind the
screen, shooting downwards; at the bottom theyedlected by a "reversing lens" to travel verti-
cally upwards along the screen, which they evehtindt by the influence of a grid of conductors
which accumulate electric charges from the elecbream and give them off to the screen. The
flat screen will be especially suitable for coloeception.

lll. Check your understanding.
1. Find the best item to complete each sentenceostiaog to the information given in the
text:
1. They solved the technical problems of colour.TV
a) early in the ZDcentury; b) late in the fcentury.
2. They held up the general introduction of collevision because of the high cost of...

a) receivers; b) transmitters.
3. ...first introduced colour TV service.
a) The USA; b) Japan.

4. The flat screen will replace...
a) cathode-ray tube; b) the conventional receiegrith its cathode-ray tube.

2. Tick all the statements from the list below whiare true:
a) Japan started its regular service in winter 1990
b) The price of a colour set will be ten times agcmas that of a black-and-white receiver.
c) Colour television will eventually supersede kland-white transmission.
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d) The first screen may be no more than 2 to 3dadhick.

e) It has a fluorescent coating like conventionakt but the electrons from the cathode
move almost parallel with it instead of strikingatta right angle.

f) They start their journey from an electrguh" at the bottom behind the screen.

3. How would you define the "flat" screen TV set?

IV. Enlarge your vocabulary.
1. Find words in the text which have opposite meags to those below:

high finish
unlimited at the bottom
irregular downwards

to place horizontally

wrong at last

2. Find the nouns in the text which relate to thegerbs:

to hold up to start

to transmit to introduce
to begin to supersede
to hang

3. Group the words which go together:

technical service
colour beam
experimental angle
conventional problems
right television
electron tube

4. Use a dictionary if necessary to make sure yoww the meaning of these words and phras-
es used in the text:
high cost of the equipment
a limited number of viewers
no doubt
instead of
to accumulate electric charges
suitable for colour reception

5. Give your own answeiVhat is the function of television?

LESSON 10

|. Words for understanding the text.

1. analogue system  anamoroBas cucTema

2. to encode KOJMPOBATh

3. to the extent JI0 OTIpEIeICHHOW CTEeTIeH!
4. capacity MOIIIHOCTh, EMKOCTb
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5. to demand TpebOoBaTh

6. invariably MOCTOSTHHO, HEU3MEHHO

7. perform BBITIOJIHATH, OCYLIECTBIISThH
8. to split pacIIeIIATh

9. broadcasting camera TeneKamepa

10. to feed MO/1aBaTh, TOABOIUTH

11. binary recordings OMHAPHBIH, TBOWIHBIH

12. circuit 1eTb

13.to unscrambl PacKoIUpOBaTh, pacin(poBLIBATH
14. tremendous scope OTPOMHBIN 00beM

15. at the rate MIPH CKOPOCTHU

16. to recognize NPHU3HABATh

Il. Read the text and find answers to the followingyuestions:

1.What have Russian experts managed to do usingdéyistems?

2.What are the advantages of digital techniques avalogue electric systems?
3. How does digital television work?

4. What are the weak points about digital televi8ion

5What have Russian researchers found studying tbtsgm?

Digital Television

The so-called analogue systems of television afgetgsuperseded by digital systems in the
near future. Using this new system, Russian experte managed to encode and compress flows
of visual information to the extent that the requaent in the carrying capacity of communication
channel was cut by nearly 86 per cent.

The advantages of digital techniques over anal@aieetronic systems have demanded that
we use them in television. These advantages imgravguality of the picture. While in the ana-
logue system of recording signals noises and emeeriably accumulate at every stage of their
transmission or copying, digital recording is altnfose of signal errors.

How does digital television work? Basically it parhs by splitting the continuous analogue
signal into a series of separate pulses. A contislyovarying electric signal generated by a usual
broadcasting camera is fed into an electronic @ewhich converts it into pulses. These pulses
represent binary recordings of the signal's vahtesny given moment. At the receiving end of
the circuit, the digital signal of binary pulsesndae unscrambled back into the analogue signal
which is then fed into ordinary TV sets. But thevaatages of digital techniques can themselves
be used in TV sets in order to improve their reloepgualities considerably.

Digital TV, however, has its disadvantages. Themuaie lies in the tremendous scope of in-
formation to be transmitted. And it must be donehat rate of 216 million pulses per second.
This great flow of information is rather difficudind extremely expensive to transmit over great
distances by the technical means available today.

Russian researchers studying this problem havedfdwatp in the principles they have ob-
served in living nature. And the efforts of Russiasearchers in this field are internationally rec-
ognized.

lll. Check your understanding.
1. Put Tor F to indicate if the statements are beldrue or false according to the facts in the
text:
a) The so-called digital systems of televisaoa to be superseded by analogue systems.
b) The advantages of digital techniques over anaagectronic systems have demanded
that they can be used in aviation.
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c) These advantages improve the quality of theupact

d) It's performed by splitting the continuous agaie signal into a series of separate pulses.
e) The main disadvantages lies in the tremendaysesaf information to be transmited.

f) It must be done at the rate of 100 million pulgessecond.

IV. Enlarge your vocabulary.

1.

Use a dictionary if necessary to make sure yoww the meaning of these words and phras-

es used in the text:

2.

digital television

analogue systems of television
digital systems

flows of visual information
video and audio signals
communication channels
electric signal

Translate these word combinations, paying attentto the attributes which are in bold type:
a) in the near future; every stage oftheir transmissiontheseadvantagesysual broadcast-
ing camerapinary recordingsall stages;
b) receptionqualities; the TV tubegommunication channels;
c) continuous analogussignals;technical meansavailable today;
d) a continuouslyarying electric signals; at theeceiving end of the circuit; the researchers
studying this problem;
e) at anygiven moment; signalgeneratedby a camera;
f) informationto be transmitted; datato be received; TVsetto be repaired;the textto be
read.

3. Give your own answerWhen will we have only digital television?
LESSON 11

|. Words for understanding the text.

1. mass media Cpe/cTBa MaccoBOM MH(pOpPMALIUH

2. to inform coo0mars, KHPOPMHUPOBATH

3. what's going on YTO MIPOUCXOUT

4. possibility BO3MOYKHOCTh

5. entertainment pa3BieyeHHE

6. to report €000I111aTh, ITUCaTh O

7. event coOBITHE, IPOUCIIECTBHE

8. objectively 00BEKTHBHO

9. fair YEeCTHBIH, CITPaBeITUBBIMA

10. to provide obecreynBaTh

11. reliable HaJEXHBIN

12. ordinary OOBIYHBIH, 3ayPSTHBIN

13. disaster OexncTBre

14. crash aBapus

15. murder youiicTBO

16. robbery rpabex
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17. to make headlines MONACTh B 3ar0JIOBKH T'a3€T, BBI3BATH CEHCALIUIO
18. freedom cBoOoO1a

19. to intrude BTOPraThCs

20. private YaCTHBIH, JTAYHBINA

21. to follow pecie0BaTh

22. celebrity 3HAMEHHUTOCTh

23. to print reyaTarhb

24. sensational CEHCAI[MOHHBIN

25. untrue JIO’KHBIN, HEBEPHBIN

26. half-true MOJTYIIPaBIUBBIN

27. intimate WHTHMHBIH

28. source HUCTOYHUK

29. advantage IPEUMYIIIECTBO

30. seeing is believing JydIlIe pa3 yBUJIETh, YEM CTO pa3 YCIBIIIATh
31. besides KpPOME TOTo

32. politician MTOJIMNTHK

33.to lie JraTh

34. to prefer MPEANOYUTaTh

35. to react pearupoBarhb

36. extra detall JIOTIOTHUTEIHHBIC CBEACHHUS, TTOIPOOHOCTH
37. comment KOMMEHTapU

38. background information 3aKyJIMCHAS» MHPOPMAIIHS

39. the Internet WutepHer

40. recently HE/IaBHO

Il. Now look at these questions and read the texbtfind the answers:

1. Do you think that the media influence our life?

2. Millions of people get most of their news frometgsion. What about you?

3. Do you read newspapers?

4. When do you usually listen to the radio?

5. Do you agree that most news we get from the mediad news?

6. Do you think it would be nicebéuio o1 mpusitro) if all news printed in newspapers and
shown on TV was good news?

7. Do you think that journalists are given too mucketiom?

8. Do you want to watch bodies of people who have diea plane crash on TV?

9. How do paparazzi earn their living?

10. Are you interested in politics? Do you thinkttlsome politicians use the media to influ-
ence their votersigouparenn)?

11. What is the main advantage of the Internet?

Mass Media

The mass media play an important part in our li\éswspapers, radio and especially TV
inform us of what is going on in this world and gius wonderful possibilities for education and
entertainment. They also influence the way we Beewviorld and shape our views.

Of course, not all newspapers and TV programmesrregvents objectively, but serious
journalists and TV reporters try to be fair andyitde us with reliable information. It is true that
the world today is full of dramatic events and mostvs seems to be bad news. But people aren't
interested in ordinary events. That is why theeesar many programmes and articles about natu-
ral disasters, plane crashes, wars, murders arrels. Good news doesn't usually make head-
lines. Bad news does.
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Some people say that journalists are given too nfoebdom. They often intrude on
people's private lives. They follow celebrities grtht sensational stories about them which are
untrue or half-true. They take photos of them ®irtimost intimate moments. The question is —
should this be allowed?

The main source of news for millions of peopledlevtision. People like TV news because
they can see everything with their own eyes. Arat'shan important advantage. Seeing, as we
know, is believing. Besides, it's much more diffidor politicians to lie in front of the cameras
than on the pages of newspapers.

Still, many people prefer the radio. It's goodisteln to the radio in the car, or in the open
air. or when you do something about the house.

Newspapers don't react to events as quickly asbliVthey usually provide us with extra
details, comments and background information.

The Internet has recently become another impodantce of information. Its main advan-
tage is that news appears on the screen as sabm@s happen in real life and you don't wait for
news time on TV.

lll. Check your understanding.
1. Put TorFto indicate if the statements below dree or false according to the facts in
the text.

a) TV doesn't inform us of what is going on in the lglor

b) All newspapers and TV programmes report the evabjectively.

c) There are so many programmes and articles aboutahdisasters, plane crash-

es and wars.
d) Newspapers don't react to events as quickly as TV.

2. Complete these sentences using the informatiamf the text.
a) The mass media play ...
b) It is true that the world today is full of...
c) People like TV news because ...
d) The Internet main advantage is ...
e) Seeing, as we know, is ...

3. Match the word to its definition:

TELEVISION - fzoof details that tell you about a situation, gyen
person, place etc.
NEWS - the system of broadcasting picturessanhd,;
HEADLINE - all therganizations that are involved in providing in-
formation to the public, especially newspapers,and radio;
NEWSPAPER - tvd@n accident in a car, train, etc. by hitting
something;
CRASH - the words in big letters at the tba mewspaper report that all you
what the report about;
INFORMATION - reports about recent eig printed in newspapers or
given on television or radio;
THE MEDIA - a set of large feldl sheets of paper containing news,

articles, pictures, etc., which is printed and soldry day or every week;

IV. Enlarge your vocabulary.
1. Which prefix forms the opposite of these words?
... fair ...true ...reliable ... natural
...ordinary ...important ...advantage ..reapossible
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2. Fill in the correct words from the box. Use thords only once.
mass, serious, reliable, important, privaézsational, ordinary, open

1. ... information

2. ... life

3. ... media

4. ... part

5. ... journalist

6. ... event

7. ...story

8. ...air

3. Look at the words in the box. Find words connedtwith the mass media.

TV programme, journalist
newspaper, celebrity
food, politicians
event, building
hotel, shop

4. Find the nouns, verbs, adjectives, adverbs.
especially, wonderful, information, intrude, inforpossibility, advantage, serious, relia-
ble, provide, politician, intimate, objectively,dmnary, usually.

5. Give your own answelDo the media play an important part in your life?

LESSON 12
|. Words for understanding the text.
1. access JOCTYII
2. to appear TTOSIBJIATHCS
3. to attach HPUCOETUHATHCS
4. because of u3-3a
5. button KHOITKA
6. to consist of COCTOSITH 3
7. data JTAaHHBIC
8. drive JTIMCKOBOJ
9. to encase MOMEIIATh B KOPITYC
10. to execute BBITIOJTHATH
11. to hold JepKaTh, yIACPKUBAThH
12. immediate HEME/UICHHBIH, HETTOCPEICTBEHHBII
13. to include BKJIFOUaTh, COJICPIKaTh B cede
14. item YaCTULA, CIMHULA
15. job 3aJlaHKe
16. in order to JUTSL TOTO, YTOOBI
17.to process oOpabatsIBaTh
18. processing o0paboTka
19. to refer (to) 00paIarsCs, OTHOCUTHCS

20. referred to HAa3bIBAEMBIN, 0003HAYAEMBIN
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21. to remove nepeMeInaTh, yaaasiTh
22.10 save COXpaHSTh

23. set of PsiT, HECKOJIBKO

24. to store 3allOMUHATh, XpPaHUTb

25. storage 3aITOMHUHAIOIIEE YCTPOMCTBO
26. temporary BpPEMEHHBIN

27. to vanish Hcue3arh

Il. Read the text and look for answers to these q@#ions:
1) What is a computer?
2) How do we call a person working at the computer?
3) Where do we hold the programs and data?
4) What do you do if you want to save the work?
5) What does a common configuration consist of?
6) What is the heart of the computer?
7) What do programmers use in order to write thHewsoe?
8) Where are the drives?
9) Are floppy disks removable?
10) When does the old information vanish?

A Brief Look at Computers

A computer is a machine that can be instructedta @lariety of jobs. You are the user, or
person working at the computer, and the personwites them is a programmer.

You use an input device to put data and prograrastire computer and an output device
to see what the computer has done. Thus, what yoin{® a computer is called input, and what
you get from a computer is called output. We hblel programs and data temporarily in memo-
ry, which consists of circuits on silicon chipsytiu want to save the work, you tell the comput-
er to record it on storage, a special medium sschdisk or a tape.

A common configuration, or assortment of componetésigned to do these jobs consists
of the computer, two storage devices (a hard diskedand a floppy disk drive), a specific
amount of memory, two input devices (a keyboardantbuse), and two output devices (a mon-
itor and a printer). The computer contains the reémrocessing unit, or CPU, which holds the
circuits that actually execute the instructionsc@ese of its functions (referred to collectively as
processing), the CPU is often nicknamed the brathe@heart of the computer.

The CPU executes two types of instructions, onvgrie. The first manages the Circuits of a
computer so that the computer can get something &trage or put a letter or number on the
screen. This software is system software. The cbftware, the application software, helps you
do a job. The computer game Flight Simulator isliappon software for entertainment, and Pa-
radox is application software for organizing dd&aogrammers use a number of computer pro-
gramming languages, or special codes, in orderite the software.

The CPU accesses, or gets, the data and programsstorage such as a hard or floppy
disk. A disk is a flat, circular piece of magnetizmaterial. The hard disk is encased in and read
by a hard disk drive, and the floppy disk is regdabfloppy disk drive. The drives are usually
built into the computer. Floppy disks are removaklbile most hard disks on microcomputers
are not. Any instructions or data that the compbtes accessed from storage is kept in memory
for immediate use.

You command the computer to access items in staade other jobs by typing words and
numbers on a keyboard or by moving a mouse andgipgeshe buttons on it (called point and
click). As you type, the words and numbers app@aa screen, or monitor, that looks like a tele-
vision set. This is called soft-copy output, beeaiiss temporary: as soon as you turn off the
monitor or ask for new information, the old inforo@ vanishes. Your system might also in-
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clude a printer for making paper copy -that isdheopy output (also called printouts). Hard copy
can be read without using a computer and can Ly easried around, written on, or given to
other readers. Any of the input and output devibas are attached to the computer are called pe-

ripherals.

lll. Check your understanding.

1. Look through the text more carefully and deciddnether the following statements are

true or false:

a) A computer is a device transforming electricrggeénto mechanical energy.
b) The user is the person who writes programs.
c) What you put into the computer is called outpuii what you get from a computer

is called input.

d) If you want to save the work, you can tell thenputer to record it on storage.
e) The heart of the computer is the central procgsmit.
f) Programmers use various devices in order to ewrhe software. As
soon as you turn the monitor or ask for new infdromg the old
information doesn't vanish.

2. Make up sentences by matching the informationrdnt a) and b):

A
1. A computeris ...
2. A programmer is...

3. A common configuration consists of

4. Adiskis...

5. Hard copy can be read ...
6. Peripherals are ...

B

1. two input devices, two output devices,
computer and two storage devices.

2. a flat circular piece of magnetized ma-
terial.

3. without using a computer.

4. input and output devices that are attached
to the computer.

5. the person who writes programs.

6. a machine to do a variety of jobs.

3. Now try to complete these definitions using thérmation given in the text. Look at

the example:

e.g. The user is a person working at the computer.
a) A programmer is the person ...
b) What you put into a computer is called ...

c) Adiskis ...

d) The central processing unit (CPU) is ...

IV. Enlarge your vocabulary.

1. Give the noun forms of the following:
Use, store, organize, write, magnetize, informdrea

2.Find the nouns, verbs, adverbs and adjectives.

user programmer
consist configuration
collectively contain
encase actually

flat special

temporarily
assortment

application

television

removable

3. Find words in the text which have opposite meaanto those below:

input device
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unmagnetized
disappear
new

hard

4.Group any words which go together:
Silicon, hard, paper, input, programming, devieegluage, chips, disks, copy

5. Give your own answerl) What are the main components constituing apcien?
2) You are watching TV with a friend. What could gay in each situation below? Look
at the example first.

LESSON 13
|. Words for understanding the text.
1. consumption noTpedIieHne, pacxo/y
2. alarming TPEBOKHBIH, BOJTHYIOIIHIA
3. trash Mycop, XJaMm
4. to throw smth away BBIOpAChIBAThH
5. generator IIPOXU3BOAUTECIb, HCTOYHHUK SHCPTHUHU
6. solid TBEP/IBIH
7. discard 9TO-TH00 HEHYXKHOE, OpaK, OTXOAbI (MH.4.)
8. household JIOMAITHEE XO3IUCTBO
9. can ypHa, MyCOPHBIN SIIUK
10. landfill MIOJIMTOH I Mycopa
11. laughable CMEIIHOM, 3a0aBHBIA, KOMAYHBINA
12. to deplete OITyCTOIIATh
13. depletion OITYCTOIIICHUE, OUUIIICHUE
14. raw materials CBIPbE
15. leachate CTOYHBIC BOJIbI, 3arPSI3HEHUE BOJIBI DIIEMEHTAMU
16. to percolate MIPOCAYNBATHCS, TPOXOIUTH CKBO3b
17. contaminant 3arpsI3HUTENb
18. significant Ba)KHBIN, 3HAYAIUA
19. to engage HaHUMATh, 3aHUMAThCS
20. eventually B KOHEYHOM CUETE, B UTOTE

Il. Read the text and answer the following questiost
1) Why should we recycle?
2) What does recycling conserve?
3) Does recycling save natural resources?
4) Recycling helps solve the solid waste probleogsm't it?

Recycling
Today, the world's resources are in danger of bexigusted, while consumption of these
resources has continued to increase at an alamaiagEvery American discards an average of 5
pounds of material per day. As a nation, we dis@dhnibst 250 million tons of solid waste an-
nually.
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An individual's responsibility should not end whiée trash can is emptied. The individu-
al cannot just "throw it away" for there is no "awialhe waste generator is responsible for prob-
lems of solid waste disposal and can contributiiing those problems.

One way to prolong our resources is by recyclinfjeiAreducing our discard to a mini-
mum by reuse of materials, we should recycle wheatwdiscard.

Recycling household wastes helps conserve enegyeXample, one ton of aluminum
from ore requires 16,000 kilowatt hours (kwh) afatticity while one ton of recycled aluminum
ore requires only 187 kwh. Recycling of other hinade discards such as paper, cans and glass
all contribute to energy conservation.

Ore deposits throughout the world are rapidly depleMuch of this nation's metal ore
needs are supplied by foreign countries. It is obsithat continual reuse and recycling will
delay the depletion of existing resources and @sereur dependence on imports.

We can also preserve the quality of our environntgnpracticing recycling. Recycling
one ton of paper saves 17 trees. Many industregsntlanufacture materials from recycled mate-
rials cause less air and water pollution than itriess producing equivalent products from raw
material.

Much of the solid waste generated each year endis iamdfills. This causes many prob-
lems, the most serious of which is "leachate,” ®drwhen water percolates through waste, pick-
ing up contaminants. Leachate eventually pollutesosinding land and water for many years.

Landfill space is rapidly filling up; adequate rapéments are difficult to find. While re-
cycling won't eliminate landfill use, it does reéualuable landfill space.

Recycling is not a cure - all for solid waste pehk. There are many and various ways to
conserve energy, save resources and help thevgadit volume problem. Recycling is only one
step, but it is a significant one in which we slibehgage, we have one earth. The establishment
of a "Recycling Program” for household materiaihie responsibility of your local government.

In 1988, the Virginia General Assembly passed Hd&iel 743, instructing "local government"
to establish programs that recycle 10% of solidtevasream materials by 1991, 15% by 1993
and 25% by 1995. North Carolina has a similar law.

Following this mandate, each locality is currerdigveloping and implementing a pro-
gram that best suits the geographical and populatfearacteristics of its jurisdiction. These
plans center around either a "curb-side" or a "driprogram. The "curb-side" program, which
is utilized in urban areas, calls for materiald&opicked up at your particular residence. "Drop-
off boxes," on the other hand, ask for you to delimaterials to a centralized location, and then
separate them into different containers.

In lieu of taking material to a "drop-off centerwyoan deliver and sell it to a "buy-back
depot" or scrap processor. Markets change, butrmtesuch as aluminum cans, copper and
miscellaneous steel have economic value.

In all programs, the material then goes to a "MakeRecycling Facility,” such as
Cycle Systems, where it is further sorted and @eeg into a physical form as specified by
the consuming steel, paper or plastic manufacturer.

To find out specifically what program is planned jyour particular area and household,
contact your local government. Municipalities ammtinuously adding staff people to help de-
velop and implement programs.

lll. Check your understanding.
1. Which of the following statements are true andhish are false?
a) Today the world resources are in danger of bexiusted.
b) The waste generator isn't responsible for prablef solid waste disposal.
c) One way to prolong our resources is by recycling
d) Recycling household wastes doesn't help conssresyy.
e) Recycling one ton of paper saves 17 trees.
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f)While recycling will eliminate landfill use, it dsa't reduce valuable landfill space.

2. Complete the sentences below using the informrain the box opposite:

1. Every American ... a. we should recycling what we
discard

2. After reducing our discard b. generated each year ends up idfills.
to a minimum by reuse materials,...

3. Recycling of other householdc discards on overage of 5 pounds of maternals
discards such as ... per day.

4. Ore deposits throughout t/d. are being rapidly depleted.
world...

5. Much of the solid waste ... e. paper, cans and glassalhtribute to energ
conservation.

IV. Enlarge your vocabulary.
1. Supply the appropriate prepositions.
1. We can also preserve the quality our enmBTt  practicing recycling.
2. Recycling one ton paper saves 17 trees.
3. Many industries that manufacture materials recycled materials cause less produc-
ing equivalent products raw material.

2.Translate the following phrases from the text:
alarming rate; problems of solid waste disposalycked aluminium; tomorrow's metal mines;
continual reuse and recycling; water percolatespadte replacements; eliminate landfill use;
household discards.

3. Give your own answeiVhat does the word “recycling” mean?

LESSON 14

|. Words for understanding the text.

1. to maintains MOJIICPIKUBATh, COXPAHSThH

2. to employ UCIIOIb30BaTh

3. enormous OTPOMHBIH

4. to transform HU3MEHSTh, IPEOOPA30OBHIBATH

5. unavoidable Hen30eKHBIN, HEMUHYEMBIi, HEOCTIOPUMBIIA;
6. particulate B (hopMe YacTHIl, MaKpOUYaCTUIIA

7. soot caka, KOIIOTb, Harap
8. chimney TpyOa, IbIMOXO/I
9. to contaminate 3arps3HATh, 3apaxarb

10. rubbish

11 sewage
12.to reduce

13. to recharge
14. fossil fuel

15. sulphur oxide

Mycop, cop, XJam
HEYUCTOTHI, CTOUYHBIE BOJIBI
CHMJKaTh, COKpAILATh
nepe3apspKaTh
HCKOIIaeMO€ TOIUIMBO
OKCH]I CEepBI
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16. thermal TEIUTBIA, TOPSYH, TEpMaTbHBIH

17. elimination BBIOpACHIBaHUE, YIAJICHUE, OUHIIICHHIE
18. consumption noTpeOIICHHE, PacXo/]

19. to tackle periath, OUThCS

20. to exhaust HCTOIIATh, UCUEPITBIBATH, OTPAOOTATh
21. irreparable HETIONpPaBUMBbIi, 0€3BO3BpATHBIH

Il. Read the text and answer the following questiost
1) Can we create energy?
2) What causes pollution?
3) How can particulates be collected?
4) What can we do to reduce pollution?
5)Why are lakes and rivers devoid of marine life?

Everything Must Go Somewhere

To maintain his standards of living, 20th centurgmemploys technology to produce an
enormous variety of goods and services. Technahegygls energy and matter. But we can neither
create nor destroy energy and matter, only tramstbiem. And since everything must go some-
where, the transformations which are part of préidacprocesses cause pollution in some form
or other - this is unavoidable. So a talk of clegnup the environment and 'pollution-free' cars,
products or industries is a scientific impossifilit

For example, we can collect particulates (suchnaske, dust or soot) from factory chim-
neys by means of filters, but these solid wastdisién contaminate our water or soil. Similarly,
we can collect rubbish, and remove solid waste® sewage, but we must then either burn them
(causing air pollution), dump into our rivers, é@kand oceans (water pollution), or deposit on
the land (solil pollution, and water pollution ieghrun away).

Another example is air pollution from cars. We caduce air pollution from petrol- and di-
esel-propelled cars by changing over to electris.daut electric cars can have their batteries re-
charged almost every night, and so we should needctease the number of power plants to
generate the extra electricity required. And amdase in the number of power plants that use
fossil fuels can result in increased air polluti{@mom sulphur oxide, nitrogen oxide and smoke),
increased water pollution (from heat), and incrddsad pollution (from mining). We can shift
to nuclear power, which is not dependent on fdssls. But nuclear power increases thermal
pollution of the water, and adds the danger ofasley radioactive substances into the environ-
ment.

From these examples we see that pollution elinona impossible. Instead, our aim must
be pollution reduction and control. One means onglahis is to make the best possible use of
technology. In fact, technology is essential ingieg pollution below the danger level. However,
pollution control alone is not enough. It must loeanpanied by population control, and control
over production and consumption. The reason istthere is no point in controlling pollution
without at the same time stabilizing world popudati production of goods, and consumption of
materials. But if we tackle all these matters atghme time, pollution control is possible.

Time is running out, however. Everything must gonewhere, and so pollution is begin-
ning to have serious effects. Already many of tlwldis rivers and lakes are devoid of marine
life - killed by industrial waste. Already the ammdwf lead in the bodies of people living in ur-
ban areas is dangerously high, because of car sixgages. Already the hearing of millions of
factory workers is irreparably damaged, as a restlindustrial noise. Everything must go
somewhere - yes. But it is for man to decide hovelmpollution he creates, what form it takes,
and where goes.

lll. Check your understanding.
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1. Which of the following statements ate true antliah are false?
a) Technology needs energy and matter.
b) But we can neither create nor destroy energy arttemanly transform them.
c) We can collect particulates from factory chimneysrieans of boxes, but these solid
wastes will then contaminate our water or soil.
d) We can shift to nuclear power, which is not depanhde fossil fuels.
e) Instead, our aim must be pollution elimination.
f) However, pollution control alone is not sufficient.
g) Already the amount of lead in the bodies of pediglag in urban areas is too low, be-
cause of car exhaust gases.

2. Match parts of sentences from column A with padf sentences from column B.

A B
1. But nuclear powe... a. at the same time pollution con
is possible.

2. Technology. b. and so pollution is beginning
have serious effects.

3. We can reduce air pollutic... ¢ how much pollution he creat
what form it takes, and whe

4. So atalk of "cleaning up the goes.

environment". d. increases thermal pollution of

water, and adds the dange
releasing radioactive bstance
into the environment.

5. But if we tackle all these matte e. needs energy and matter.

6. Everytling must go somewhel f. from petrol-anc-diese-propellec
cars by changing over to electric

7. Butitis for man to decid... cars

0. and pollutio-free cars, prducts o
industries is a scientit
impossibility.

3. Answer the questions:

. What does technology need?

. Why does man employ technology?

. What are the transformations?

. How can people reduce air pollution?

. What does the nuclear power increase and add?

. When is the pollution control possible?

. Why is the amount of lead in the bodies of peoplegérously high?

~NOoO o~ WNE

IV. Enlarge your vocabulary.
1. Which words in this box are not connected witlettheme of the text?

Energy matter environment apple pollution cat
control gas water rugbbi ball fuel technology
power soot
chimney foot

2. Each of the following words has a synonym in thdicle. Read the article careful-
ly and find the matching synonym.
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1. pipe

2.to lower
3.to use

4. to support
5.to decide
6. dust

7.10 pollute
8. cleaning
9.to change
10. expenditure
11. dirt

3. Insert prepositions given below. You can use miran one.
For example, we can collect particulates (suchnmaske, dust or soot) ... factory.

Chimney ...means ... filters, but these solid wastds theen contaminate our water or
solid. Similarly, we can collect rubbish, and rera®olid wastes ... sewage, but they must then
be either burned (causing air pollution), dumpedour. rivers, lakes, and oceans (water pollu-
tion), or deposited ... the land (soil pollution, amdter pollution if they run away).

By, of, from, into, on.

4. Use_musbr have to Mind the tense. Negative forms are possible.
a)lf you want to have e-mail, you ... install a raod
b)You .,. wait a certain time of day to call.
c)In our country children ... stay at school tiletage of 17.
d)l... translate all the letters in our office.
e)lt was late, so | ... go home.
f)yMany children ... go to a kindergarten because theihers work.
g)The car broke so we ... repair it.
h) You ... switch off the light when you l@athe house.
1) All citizens ... follow the law.
k) All the flights were booked, so we ... gpothain.

5. Give your own answels pollution a very important problem nowadays?

LESSON 15
|. Words for understanding the text.
1 . sulphur dioxide JIBYOKHUCH CEPbI
2.airborne BO3YIIIHBIH
3.lead pollution 3arpsi3HEHUE CBUHIIOM
4. car exhaust BBIXJIOITHEIE T'a3bl
5. combustion CropaHue
6. fossil fuel HCKOIIAEMOE TOILJIMBO
7. contaminant (pollutant) 3arps3HAOIIee BEIIECTBO
8. nitrogen oxide OKHChH a30Ta
9. particle yacTHIa
10. mortality rate CMEPTHOCTb

11. acid rain KUCJIOTHBIN JOXKIb
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12. decline of forests ruderb JIeCoB

13. long-range KpPYITHOMACIITaOHBIH

14. vehicle TPAHCIIOPTHOE CPEJICTBO, CPEACTBO aBTOMEPEABHIKCHHUS
15. contamination 3arps3HEHUE, 3apakeHue

16. emission BBIOPOC 3arpsA3HAIONIMX BEIIECTB B aTMOCheEpy

17. fine suspended particulate matterenpuaiiiie B3BEIICHHBIE B BO3yXE YaCTUIKH

18. major pollution events ClTydau CHJIBHOTO 3arps3HEHHSI BO3yXa

19. soot caxa

Il. Read the text and answer the following questiost
1. When did people realise a new danger for theilth@&Vhat kind of danger is it?
2. Why are the lungs of town inhabitants greyishotoar?
3. What pollutants pose the most wide-spread anccais ?
4. What does suspended particulate matter include?
5. What are the sources of large particles? Smdiices?
6. Which particles are the most dangerous and why?
7. What are the effects of particulate pollution?
8. Which gases cause acid rain?
9. What are the sources of these gases?
10. How does acid rain form?
11. How does acid rain affect the plants? Buildihgakes and soil?
12. What is the main problem with air pollution®® your statement.
13. How do people try to curb air pollution?

Air Pollution and Acid Rains

Without air there can be no life. Without air ofagbquality there cannot be a healthy life.
Air pollution is an old problem, which has in theentury assumed wide economic and social
significance. Perhaps the first general realizatibthe new dangers came with the great London
smog of December 1952. For five days the capitdtrgland was enveloped in a grey shroud,
and over 4 thousand people died and incalculabigbeus suffered from a worsening of bronchi-
tis and heart disease.

An average person requires over thirty poundsroé @lay or about six pints every minute.
Daily the individual draws 26000 breaths, betwegratd 22 each minute, many of which are of
filthy air. The lungs of town inhabitants are usyalreyish in colour, those of country people are
normally pale pink.

The air is being polluted by acid gases, dustopeind diesel fumes and poisonous chemi-
cals. These come from cars, factories and powetgla

Of all the pollutants, that taint the air, fine gaaded particulate matter, sulphur dioxide
and ozone pose the most wide-spread and acute iHskgever, airborne lead pollution, coming
from car exhausts, is a critical concern in marnigsias well.

Particulate Pollution

Suspended particulate matter is nearly ubiquitsbhamupollutant. It is a complex mixture of

small and large particles of varying origin and maieal composition. Larger particles, ranging
from 2,5 microns to 100 microns in diameter, uguabbmprise smoke and dust from industrial
processes, agriculture, construction and roadidradls well as plant pollen and other natural
sources. Smaller particles - those less than 2¢Boms in diameter - generally come from com-
bustion of fossil fuels. These particles includetsioom vehicle exhaust, which is often coated
with various chemical contaminants or metals. Taksyp include fine sulphate and nitrate aero-
sols that form when sulphur dioxide and nitrogeideg condense in the atmosphere. The largest
source of fine particles is coal-fired power plamist auto and diesel exhaust are also prime con-
tributors, especially along busy transportatiorridors.
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The health effects of particles are strongly linkedheir size. Small particles, such as those
from fossil fuel combustion, are most dangerousabse they can be inhaled deeply into the
lungs, setting in areas, where the body's natdealr@nce mechanisms can't remove them. The
constituents in small particles are more chemicatyve and may be acidic as well and therefore
more damaging.

Particulate pollution causes acute changes in fungtion, respiratory illnesses, heart dis-
ease and aggravation of asthma and bronchitisnBumajor pollution events, when particulate
levels in the air increase up to 200 microgrampanticulate matter per cubic meter, daily mor-
tality rates could increase as much as 20 per cent.

Acid Rains

Other very dangerous pollutants are sulphur andgen oxides. These gases are released
by factories and power plants when fossil fuelstamnet and by cars. These oxides reach high in-
to the atmosphere and mix with water and other atemto form rain that can be as acid as vi-
negar. Acid rains are responsible for the declihenany forests. Tiny droplets of acid attack
plant leaves, disrupting the production of chlogpht also weakens the tree by altering the
chemistry of the soil that surrounds its roots.

Acid falls down to earth as rain and snow. Blackvgnas acid as vinegar, fell in Scotland in
1984.

Acid rain affects everything it falls on. Riverskes and forests are at risk throughout Eu-
rope and North America. In Sweden more than 18@868d have become acidic, 4000 of them
very seriously indeed. This kills fish and driveg 6sh-eating wild life.

Forests are particularly badly affected by acich rand in many places previously green,
luxuriant trees show bare branches at the topps&d of foliage. In West Germany 50 per cent of
trees are affected and, unless some curb is placqubliution, the figure is certain to rise. In
Austria, if nothing is done, scientists and envimemtalists have predicted that there will be no
trees left by the end of the century.

There is a possibility that damage to ecosystenms ficid deposition may be more funda-
mental and long-lasting than was first believede®itsts now report that acid rain leaches as
much as 50 per cent of the calcium and magnesiam the forest soils. These minerals neutra-
lise acids and are essential for plant growthoif shemistry is changed in this way, it may take
many decades for all linked ecosystems to recdesides this, acid rain releases heavy metals
and other toxic substances, providing a persisentce of toxicity to surrounding vegetation
and aquatic life.

Buildings "die" too. Some of the most beautifultbrec buildings in the world are eaten
away by the dilute acid, rained on them. Notre Da@wogne Cathedral and St Paul's Cathedral
are damaged.

A major problem with air pollution is that it doast obey national boundaries. The planet's
wind cycles and currents can carry pollution huddref miles away from its original source.

Acid rain emerged as a concern in the 1960s wigeondations of dying lakes and forest
damage in Northern Europe, the United States amédza It was one of the first environmental
issues to demonstrate how the chief pollutantsd@sxiof sulphur and nitrogen) can be carried
hundreds of miles by winds before being washedbthie atmosphere in rain, snow and fog.

As evidence grew of the links between air pollutaard environmental damage, legislation
to curb emissions was put in place. The 1979 Gef@evevention on Long-Range Transboundary
Air Pollution set targets for reduction of sulphamd nitrogen emissions in Europe that have
largely been achieved. The 1970 and 1990 ClearAéiis have led to similar improvements in
the USA.

Many nations have adopted air quality standardsafeguard the public against the most
common pollutants. These include sulphur dioxi@ebon monoxide, suspended particulate mat-
ter, ground-level ozone, nitrogen dioxide and leatl of which are tied directly or indirectly to
the combustion of fossil fuels. Substantial investts in pollution control have lowered the le-
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vels of these pollutants in many cities of someetlgyed countries. But poor air quality is still a
major concern throughout the industrialised world.

Meanwhile, urban air pollution has worsened in ntagje cities in the developing world, a
situation driven by population growth, industriali®n and increased vehicle use. Despite pollu-
tion control effects, air quality has approacheel dangerous levels, recorded in London in the
1950s, in such megacities as Delhi, Jakarta andddeity.

Many countries in the world are trying to solve fireblem of air pollution in various
ways, either by trying to bum fossil fuels moreatlly or by fitting catalytic converters to
their cars, so fewer poisonous gases are produced.

lll. Check your understanding.
1. Which of the following statements are true andhah are false?
a)An average person requires over thirty poundsrad diay or about six pints every minute.
b)The air is being polluted by smoke of burned leaves
¢)Of all the pollutants, that taint the air, fine pasded particulate matter, sulphur dioxide and
ozone pose the most wide-spread and acute risks.
d) These particles don't include soot from vehicleast.
e) Acid rains are responsible for the decline of meorgsts.
f) Acid rain doesn't affect everything it falls on.
g) Scientists now report that acid rain leaches asas®&0 per cent of the calcium and mag-
nesium from the forest soils.
h) A major problem with air pollution is that it eys national boundaries.
i) Poor air quality is still a major concern thghout the industrialized world.
]) Many countries in the world aren't trying tdw®the problem of air pollution.

2. Match parts of sentences from column A with padf sentences from column B.
A
1) Air pollution s ...
2) The lungs of town inhabitants ...
3) The health’s effects of particles ...
4) Particulate pollution cause ...
5) Acid falls down ...
6) Beside this, acid rains releases ...
7) Some of the most beautiful historic buildings ...
B
a) are usually grayish in colour.
b) an old problem, which has in this century assumielg \wconomic and social significance.
c) acute changes in lung function respiratory illneskeart disease.
d) are strongly linked to their size.
e) heavy metals and other toxic substances.
f) are being eaten away by the dilute acid, rainethem.
g) to earth as rain and snow.

3. Write a summary of the article. (Look Part Il iosummary writing)

4. Find the following English equivalents in the text
1. nByokuch cepbl
2. 9aCTHIIBI
3. cropanue
4. 3arpsI3HAIONICE BEIIECTBO
5. caxa
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6. 3apaxeHue

/. TOPOJCKOH BO3yX

8. cMepTHOCTH

9. rnaBHas mpobiema
103arpsi3HeHue, 3apakeHue

IV. Enlarge your vocabulary.
1. Complete these sentences with one of the folhgnexpressions:
airborne lead pollution; combustion of fossil fyuelgarticles; decline of many forests;
air quality standards; vehicle use; toxic substance
1. However, , coming from car exhausts, iste&caticoncern in many cities as well.
2. Acid rains are responsible for the .
3. Smaller particles-those less than 2,5 micronsameier-generally come from___ .

4. The constituents in small are more chemieadtive and may be acidic as well and

therefore more damaging.

5. Many nations have adopted to safegharpublic against the most common
pollutants.

6. Meanwhile, urban air pollution has worsened in niagje cities in the developing world, a
situation driven by population growth, industrialion and increased .

7. Besides this, acid rain releases heavy metalsotedt | providing a persistent source
of toxicity to surrounding vegetation and aquaifie. |

2. Find in the text sentences with the Passive Wiead them and translate into Russian.

3. Give your own answerAre acid rains dangerous?

LESSON 16
|. Words for understanding the text.
1. to contain coaepKaTh
2. to make up COCTaBJISTh
3. however OJIHAKO
4. to split packanbBaTh, pacUICTUIATh
5. to join COEIIUHSATH
6. either ... or WIH .... WIH
7. poisonous SITOBUTBIN
8. to damage NOBPEXKIaTh, IOPTHUTh, HAHOCUTH BPE
9. although XOTS
10.to occur CITy4aThbCsl, IPOUCXOTUTh
11. to increase YBEIUYUTH
12. to reduce YMEHBUIUTh
13.to locatt pacriojaraTbCs, HAXOIUThCS
14. band BUJIHOE, yIOOHOE MOJIOKEHUE; TTOJI0Ca, JISHTa
15. fragile XPYIKHA, CTA0bIi; HEAOITOBEYHBIN
16. crucial peIaroni, KpUTUIECKUN
17. to absorb MOTJIONIATH
18. solutior pelIeHue

19.issu¢ CIIOPHBIN BOIPOC; IPEAMET CIIopa
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20. to protect 3aIUIIATh
21. to worry 0ECIOKOUTh
22. greenhouse TEeIUIHIIA, OpaHKepes

Il. Read the text and find answers to the followingjuestions:
1. What is ozone?
2. Where is the ozone layer located?
3. Why is ozone a problem?
4. Why is the ozone layer necessary for the inhaldtahthe Earth?
5. What other problems are there on our planet?

Ground-Level and High-Level Ozone

Most of the free oxygen molecules in the earthisoaphere contain two oxygen atoms.
This is known as diatomic oxygen and it makes u@%% of our atmosphere. It is this type of
oxygen that we need to breathe. However, the twmsitcan be split up by solar radiation and
when each of these then joins with diatomic oxydka,result is a three-atom molecule of oxy-
gen. This triatomic form of oxygen is called ozoiée earth's ozone is found mainly in two
areas: either at the ground level or high aboveheads. The presence of ozone can be a good or
a bad thing ... it depends on where it is.

Ozone is poisonous and damaging - this makes thendrlevel ozone a problem. Al-
though it does occur naturally, human activities arcreasing the amount of ozone that we
breathe. Action is needed to reduce ozone on tiie'®aurface.

About 90% of ozone in the earth's atmosphere iatémtin the stratosphere - a band 15-
50 km above our heads. This fragile layer, knowthasozone layer, is crucial to our life on the
planet. It absorbs 99 per cent of the ultravidld¥) radiation of the sun. Without the ozone layer,
this radiation would probably kill most of us. # the damage being caused to this layer that is
worrying people. We need to take measures to grittec

These two problems can't balance each other outn&®d to find different solutions for
both issues.

Some human activities indirectly produce ozone thiede levels can be high enough
to cause damage to our health, and to animals, tpéents, crops and everyday materials. In-
creasing levels of the ground-level ozone also @ddhe acid rain and greenhouse effect
problems.

lll. Check your understanding.
1. Now read the text carefully, looking up anythingu don't understand in a dictionary. Put T
or Flo indicate if the statements below are true fatse according to the facts in the text.

1. Our atmosphere contains 20%%f oxygen.

2. Ozone is a triatomic form of oxygen.

3. Ozone is always dangerous for people.

4. There are measures to protect us from ozone.

5. The safe ozone layer is about 15-50 km abovéneads.

6. If there were no ozone layer the ultravioletatidn would Kill us.

2. Choose the sentence fragment that best completich of the following according to the
text.
1. two atoms can be
a) made up
b) split up
c¢) formed
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2. we needto take
a) activities
b) measures
Cc) problems
3. human activities
a) produce ozone
b) doesn't cause the damage
c) reduce the ozone level
4. at ground level ozone is
a) crucial to our life
b) safe for our health
c) absorbed

IV. Enlarge your vocabulary.
1 .Find words in the text which mean the same as:
quantity
various
to consist of
generally
to take place
to rise
to lower
to be a reason
to bother
guestion

2. Find words in the text which mean the oppositietivese:
to reduce
absence
to connect
the same
directly
busy
usefulness
below
unknown

3. Give your own answerWhat ecological problems exist in your town?

LESSON 17
|. Words for understanding the text.
1. diagram PHUCYHOK, TpaduK
2. terminal 30. TIOJTIFOC, BBIBOJI
3. linear JIMHEHHBIH
4. transfer nepeaaTouHbIH
5. domain 00J1aCTh
6. amplitude aMILTUTYIa
7. response OTKJIUK, PeaKLus
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8. tangent TaHTEHC

9. impedance KOMILIEKCHOE COMTPOTHBIICHHUE, UMIICIAHC
10. successive MOCJIENOBATEIBHBIN

11. attenuation peryaupoBka

12. cycle LUK

13. delay 3aJiepKKa

14. ratio COOTHOIIIEHUE, KOAPPHUIIHEHT

15. zero HOJIb, HYJIEBOI

16. emphasize 30. YyCUIINBATh

17. gain KO3 PHUIMEHT YyCUIICHHS

18. condition yCIIOBHE

19. to distort HCKaXKaTh

20. fidelity TOYHOCTH, BEPHOCTH

21. d.c. amplifier YCUJIMTEINb MTOCTOSITHHOTO TOKA

22. multistage MHOTOKACKATHBIN

23. power amplifier YCHIIUTENb MOIITHOCTH

24. v.f. amplifier YCHIUTENb 3ByKOBO# yacToThl (Y3Y)

Il. Read the text and answer the following questiost
1) What is an amplifier used for?
2) What is a linear amplifier?
3) When is the time delay constant for all partghefsignal in the time domain?
4) What does a multistage amplifier consist of?
5) What can you tell the gain of a power amplifier?

Amplifiers
1. Introduction. To "amplify" means to make bigger or enlarge. Anmpéfier is a piece of
electrical equipment for making signals biggerFlg. 1 the amplifier is shown as a "black box"
with two terminals on the left and two on the righin diagrams signals move from left to right
where possible, so the input signal is connectedsadhe two terminals on the left, and the out-
put is taken from across the two terminals on itetr The box in Fig. 1 is a four terminal device

with two ports. A great many amplifiers are threartinal devices as shown in Fig. 2, but they
are still two port.

o— —o

o—] —o0 S .
. LR %
o— —0
Fig. 1. Vf — Fig. 2. V| —
input signal, input signal,
V, — output Vo, — output
signal signal

If an input signal is perfectly reproduced at thwpoit of the amplifier, changed only by being
bigger, then the amplifier is "linear". This is shoin Fig. 3. The straight line which gives the re-
lationship between the input and the output signahlled the transfer characteristic for the de-
vice, a linear amplifier in this case. The ratiotloé¢ amplitude of the output signal to that of the
input signal is called the gain. For a linear afiglithe gain is constant, that is, the tanders a

constant. A delayit is shown in Fig. 3. If all parts of the outpugsal are delayed by the same
amount, this is not bad.
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Fig. 4 shows an amplifier which must operate uradgtain conditions in order to be linear.
The input signal amplitude must not be greater #hamd must operate about the point P on the
transfer characteristic. Point P is the operatioqtpfor the amplifier. If the operating point
moves, because of changes in temperature or payehslevelsor if the input signal A is too
great, then the output signal will be distorted.

%
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F \ Y ’ P 4G
%
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tlt tpdtet
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Fig. 3. { — input signal; Fig. 4. \ — input signal;
V, — output signal; V, — output signal;

F — transfer characteristic F — transfer characteristic

2. Frequency Domain.So far amplifiers are described by the use of Wawes, that is, in the
time domain. They can also be completely descrilyetheir response to sinusoids, that is, in the
frequency domain. An amplifier that is linear hhe frequency domain characteristics of con-
stant gain for sinusoids over the frequencies wfrest and phase delays proportional to their fre-
guencies. Fig. 5 should make this statement claen phase delay is proportional to frequency,
then the time delay At is constant for all the paiftthe signal in the time domain.

& 1

Fig. 6. 1 — constant level; 2 — constant slope; @ain; { — phase delay; f — frequency

It is not possible to have the ideal gain and phaseacteristics shown in Fig. 5 over the
whole frequency range. Amplifiers are named byfteguency range over which they operate.
Amplifiers which have the required characteristatszero frequency and higher are called d.c.
amplifiers. A v.f. amplifier is for voice frequered, 300 to 3,300 cycles per second (Hertz). A
Hi-Fi (high fidelity) amplifier might have a randgem 20 to 25,000 Hz.

3. Multistage and Power Amplifiers. An amplifier may have only one active element itoit
change the power from its power supply into enldrgjgnal wanted. This is called a single stage
amplifier. If more amplification is needed, ampifs can be connected in tandem. For instance,
an amplifier with four active elements providingifssuccessive stages of amplification is a four
stage amplifier. A power amplifier is designedremsfer the most power to its load. If the load is
resistive, then ¢ is designed to be equal to R. The gain of a pameplifier is the ratio of the
output power (transferred to the load) to that mtedt at its input. This ratio is written in a spe-
cial way. For example, if the gain of an amplifierL00, then this is written first as*@he 2 is
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then multiplied by 10, and the result written asd®) db means decibel (pronounced "dee-bee",
the word "decibel" is rarely used in conversatiod &el" is never heard).

5,8

1
248 33d8
L N

7 aqg | 7

G,d8

7

ool

f f

b)

Fig. 6. 1 — magnetic pick-up head output; 2 — afigplivith emphasis; S — signal; | — low end; h —
high end; f — frequency; G — gain; £f, — required range

Some amplifiers are designed to be non-linear.eample, when playing a record a magnetic
pick-up head has a poor frequency response atlthe €nd” (of its frequency range). This is
shown in Fig. 6. In order to correct this, sigreadls or amplitudes in the low end of the frequen-
cy range are emphasized by a non-linear amplidren an amplifier is provided only for em-
phasis to correct the signal, and is then followeadtandem, by a linear amplifier, then pre-
emphasis is being used. The opposite of gain eadtion. This can be shown graphically as
negative gain if a db scale is used, or as a gasthan one if a linear scale is used.

lll. Check your understanding.
1. Find the English equivalents for the followingugsian words and word combinations:

1. obmree compoTUBICHHE; 2. MOIIHOCTbD; 3. COOTHOIIEHUE; 4. MHOTOKAacKaHbIH; 0. 3aTyxa-
Hue; 6. yacToTHas obmacth; 7. popMa curHaia, 8. mocienoBaTeabHO; 9. YCHIUTETU MOCTOSH-
Horo Toka; 10.ycunenue, koapduuuent ycunenus; 11.3anepxka; 12.ycunusarb

1. frequency domain; 2. waveform ; 3. delay; 4. éahgnce; 5. in tandem; 6. power; 7. mul-
tistage; 8. ratio; 9. emphasize; 10. attenuatibh; gain; 12. d. amplifiers

2. Arrange synonyms in pairs and translate them:

a) change, constant, amount, similar to, rarely, mdém, amplify, supply, happen, for in-
stance, join

b)in series, seldom, provide, alike, quantity, stabkry, enlarge, take place, for example,
couple

3. Translate the following definitions and memoritiee terms:

Amplifier. An electronic instrument for strengthening and oahng electrical signals,
consists of a preamplifier-equalized section plpswaer amplifier section.

Decibel(db). A numerical expression of acoustical or electriedions, such as the rela-
tive intensity of a sound or relative strength dfignal. Two decibels is the smallest change in
sound perceptible to the ear.

Frequency. The number of periods per unit time.

Gain. The increase in signal power in transmission frara point to another under stated
conditions.

Generator. A machine that converts mechanical power into gtepbwer.



48

IV. Enlarge your vocabulary.
1. Name the verbs from which the following nounsroked and translate them:

amplifiers, distortion, attenuation, connectiontraduction, equipment, statement, correc-
tion, generator, transference, expression

2. Fill in the blanks with the following words:
element, characteristics, an amplifier, decibedaldoperating, attenuation, non-linear
1. ... can be shown as a “black box”. 2. One of.thef an amplifier is the gain. 3. Point P is
the ... point for the amplifier. 4. Amplifiers cahave the ... gain and phase characteristics. 5. |
IS necessary to have one active ... in an amplifiethange the power. 6. The word ... is often
used in different fields of telecommunication. hefe are linear and ... amplifiers. 8. ... can be
shown graphically as negative gain.

3. Use the words in brackets in the correct fornctise or passive.
a) A computer (to instruct) to do a variety of jobs
b) All the instructions (to execute) by the CPU.
c¢) The drives (to build) into the computer.
d) As soon as the monitor (to turn off) the oldbimhation disappears.
e) As the words and numbers (to type) they appear screen.
f) You can (to read) hard copy without using a coraput

4. Give your own answerWhat types of amplifiers do you know? What ae& @wpplications?

LESSON 18
|. Words for understanding the text.
1. layer CIIOM, TUTACT
2.chromosphere xpomochepa
3. photosphere dorochepa
4. core PO
5. to regard CUUTATh, PACCMATPUBATh
6. since TaK Kak
7. solid TBEPIbIH
8. outermost CaMblii JaJIbHUM OT CEPEIUHBI
9.visible BUIMBII
10. surface MMOBEPXHOCTh
11.outward BHEILIHWI, HAaIIPABJIEHHBII HApYXKy
12. eclipse 3aTMCHHE
13. filmy MIEHYATHIA, TOHKUHA
14. sight BHJ, 3pCIIMIIC
15. fan BECp

Il. Read the text and look for answers to these q@#ions:
1.How many zones is the Sun divided into?
2.What are they?
3.What zones are regarded as the Sun's atmosphere?
4Why is it hard to tell where the atmosphere ends?
5.What is the corona?
6.What temperature does the corona reach?
7.What is at the center of the Earth's solar system?
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8.What is the temperature of the sun?

The Sun's Atmosphere

Solar astronomers do know that the Sun is dividéal five general layers or zones. Start-
ing at the outside and going down into the sunzthrees are the corona, chromosphere, photos-
phere, convection zone, and finally the core. Tihs three zones are regarded as the Sun's at-
mosphere. But since the Sun has no solid surfaisshard to tell where the atmosphere ends and
the main body of the Sun begins.

The Sun's outermost layer begins about 10.000 rabese the visible surface and goes
outward for millions of miles. This is the only paf the Sun that can be seen during an eclipse
such as the one in February 1979. At any other, tiheecorona can be seen only when special in-
struments are used on cameras and telescopestotbéolight from the photosphere.

The corona is a brilliant, pearly white, filmy lighabout as bright as the full Moon. Its
beautiful rays are a sensational sight during dipsr The corona's rays flash out in a brilliant
fan that has wispy spikelike rays near the Surrthrand south poles. The corona is generally the
thickest at the Sun's equator.

The corona is made up of gases streaming outwardraendous speeds that reach a tem-
perature of more than 2 million degrees Fahrenksas thins out as it reaches the space around
the planets. By the time gas of the corona reattteegarth it has a relatively low density.

At the center of the Earth's solar system liesSba. The temperature of the Sun is over
10.000 degrees Fahrenheit at the surface, bgeis to perhaps more than 27.000.000° at the cen-
ter. The Sun is much hotter than the Earth sorttster can exist only as gas, except perhaps in
the core. In the core of the Sun, the pressuresageeat that, despite the high temperature, there
may be a small cold core. However, no one reallyns) since the center of the Sun can never be
directly observed.

lll. Check your understanding.

1. Look through the text more carefully and deciaéether the following statements are true,
false, or the information is not given in the text.

1. Astronomers do not know how many layers the Sulivisled into.

2. Corona, chromosphere and photosphere are rebasdde Sun's atmosphere.

3. Itis hard to tell where the atmosphere endalse the Sun has no solid surface.

4. The Sun's outermost layer is not the only gt tan be seen during an eclipse.

5. Our solar system consists of nine planets and theons.

6. The corona is generally the thickest at the<Scenter.

7. When gas of the corona reaches the Earth i légh density.

8. Jupiter is the largest planet in the solar syste

9. At the surface the temperature of the Sun is 806000 degrees Fahrenheit.

2. Make up sentences matching the information from) and b)

A B
1. The Sun is divided into ... a) a brilliant pearly white, filmy light
2. The corona can be seen only ... b) rises to more than 27.000.000
3. The coronais ... c) five general layers or zones
4. The gas thins out as ... d) when special instruments are used on
cameras and telescopes
5. The tempreture of the Sun at the e) it reaches the space around [the
center ... planets
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3. Complete these sentences using the informatiamf the text.
a) The Sun is divided into five general layers sash..
b) Convection zone and the core are not regarded as
c) The Sun's outermost layer begins about...
d) The corona's rays are ...
e) The gas thins out as it...
f) The center of the Sun can never...

IV. Enlarge your vocabulary.
1. Give Russian equivalents to the following wortbgps.
General layers, solid surface, the main body, oubst layer, visible surface, the only
part, at any other time, special instruments filiigit, a sensational sight, a brilliant fan, tre-
mendous speed, solar system.

2. Find the nouns, verbs, adjectives, adverbs:
general, special, tremendous, convection, photospheach, finally, beautiful, rela-
tively, begin, sensational, pressure, visible liant, directly.

3. Look at the words in the box. Find the wordsnccted with astronomy.
Prosecution, layer, computer, cororild, durface, reason, Moon, article, light, drives-
lipse, wage, telescope

4. Group the words which go together:

a) general a) instrument
b) solid b) light

c) special c) surface

d) brilliant d) speed

e) tremendous e) layer

5. Check your grammar: make up questions to thesatences.
a) The first three zones are regarded as the Stmsphere.
b) The Sun's outermost layer begins about 10.00srabove the visible surface.
c) The corona is a brilliant light about as brigktthe full Moon.
d) Gas thins out as it reaches the space arounuahets.
e) The Sun is much hotter than the Earth so thi#emean exist only as gas.

6. Give your own answerDo the ozone holes influence our health?

LESSON 19
|. Words for understanding the text.
1. waste OTXO/bI
2. to contribute COJIEfiCTBOBATH, CIIOCOOCTBOBATH
3. benefit BBIT0/1a, MT0JIb3a, IPUOBLITH
4. abundant OOMIIBHBIN
5. to consume MoTpeOIATh, PacX0A0BaTh
6. to complement JOTIOJTHSATH
7. taken together BMECTE B3SITHIC
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8. torange from K0J1e0aThCs

9. operating cost TEKYIIHE PACXOJIbI

10. maintenance cost AKCIUTYaTaI[MOHHBIE PACXOIBI

11.to incur MO/IBEpPraThCs

12.performance MPOU3BOIUTEIILHOCTD, K03 duitneHt nojesHoro aercteus (KI11)

. Read the text and answer the following questiost

What does the term "renewable energy" mean?

Why do renewable technologies offer important biesfef

Why do the economics of renewable energy technesognprove in comparison with conven-
tional technologies?

What systems do not contribute any carbon dioadbeé atmosphere?

How many years have modern applications of renesvabérgy technologies been under
serious development?

wNn e

o~

Progress in Renewable energy Technologies

The term "renewable energy" is energy derived feobroad spectrum of resources, all of
which are based on self-renewing energy sourcel ascsunlight: wind, flowing water, the
earth's internal heat, and biomass such as eneogg,c agricultural and industrial waste, and
municipal waste. These resources can be used tugecelectricity for all economic sectors, fu-
els for transportation, and heat for buildings amtlstrial processes.

Renewable energy contributes as much today to éh&gy production as nuclear power
(10%). Each renewable energy technology is in fem@int stage of development and commercia-
lization. Some technologies are already commeratdkast for some situations and applications.
Of the renewable energy consumed in the UnitedeStiat 1998, hydropower comprised 55%;
biomass, including municipal solid waste, 38%; geamnal, 5%; solar, 1 %; and wind, 0.5%.

Renewable energy technologies offer important benebmpared to those of conven-
tional energy sources. Renewable energy resoureeabaindant; worldwide. 1000 times more
energy reaches the surface of the earth from thehsn is released today by all fossil fuels con-
sumed. Table 1 gives the energy delivered per squater of land for four renewable resources.
Similar to fossil fuels, renewable energy resour@esnot uniformly distributed throughout the
world. However, every region has some renewableggnesource. And, because different re-
newable energy resources complement each othen tagether they can contribute appreciably
to energy security and regional development inyewation of the world, without dependence on
foreign energy sources that are subject to politicsdability or manipulation.

Most renewable energy systems are modular, alloviiegibility in matching load
growth. Today's markets for renewable energy teldymes range from specialized niche mar-
kets to centralized energy production. For cergealienergy production, renewable energy sys-
tems are relatively capital intensive comparedampeting conventional technologies such as
natural gas combined cycle power plants. Howeviter dhe initial investments that were
made, the economics of renewable energy technalogiprove in comparison with conven-
tional technologies because operating and maintenaosts are low compared with those in-
curred using conventional fuels. This is especitallg in the regions of the world where world
fuel prices are relatively high, and will be espdlgitrue in the future as fuel prices increase.

Renewable energy systems generate little if anyen@spollutants that contribute to ac-
id rain, urban smog, and health problems, and daeguire environmental cleanup costs or
waste disposal fees. Potential global climate cbkangused by excess carbon dioxide and oth-
er gases in the atmosphere, is the latest envinotaineoncern; systems using solar, wind, and
geothermal sources do not contribute any carbaxidbdo the atmosphere.

Although the energy of the sun and wind are usedhégkind, modern applications of re-
newable energy technologies have been under setexedopment for only about 20 years. In
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that period of research and development investimgmidustry and government [primarily the
U.S. Department of Energy (DOE)], dramatic improeats have occurred in the cost, perfor-

mance, and reliability of renewable energy systems.
Table 1
Comparison of Renewable Energy Delivery per Unitd &rea

Resource Annual  Delivered Energy
(KWh/m?*)

Wind Energy (intermittent) 11 (average wind speed) 18
(high wind speed)

Biomass (baseload) 15 (low efficiency) 45
(high efficiency)

Photovoltaics (intermittent) 50-100

Geothermal (The Geysers) 160-200

(baseload)

lll. Check your understanding.
1. Match the words on the left with the words orethght.

1.interna a. wast

2. economic b. cleaiup

3. conventional ¢ hea

4. envircnmenta d. technilogies
5. solid €. Sectc

2. Choose the sentence fragment that best compledes of the following.
1. The term "renewable energy" is enerqy derivedhfr..
a)resources that can be used only for productionheatrcity.
b)a broad spectrum of resources.
2. Renewable energy resources are ...
a)limited.
b)enormous.
3. Modern applications of renewable enerqgy techmieb have been

under

serious development for ...
a)millennia.
b)only about 20 years.
4. The economics of renewable energy technologigsave because ...
a)fuel prices increase.
b)operating and maintenance costs are low.

IV. Enlarge your vocabulary.
1. Insert suitable words in each gap.

Uniformly, development, electricity, energy sesutiuildings, transportation

1. Renewable energy resources can be used to pradémreall economic sectors, fuels for ...,

and heat for ... .

2. Similar to fossil fuels, renewable energy resouaresnot ... distributed throughout the world.
3. Because different renewable energy resources comngplieeach other, they can contribute to

... and regional ... in every nation of the world.
4. Today's markets for renewable energy technologiege from ... to ...

5. Renewable energy systems do not require envieatah... costs and waste ...fees.
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2. What do the following numbers refer to ?
10%; 55%; 38%; 5%; 1%; 0,5%; 1000 times; 20 years.

3.Fill in the blanks with prepositions:
after, by, of, with, on, in, without, to, and.

1
2.
3

4.

5

. A broad spectrum ...

resources are baseself-renewing energy sources.

... the renewable energy consumed ... the USitates ... 1998 solar energy comprised 1%.

. Because different renewable energy resources comeplieeach other, they can contribute ...

energy security ... regional development ... evatons ... the world, ... dependence ... for-
eign energy sources that are subject... politicsthibility.

However ... the initial investments have been m#uke economics ... renewable energy tech-
nologies improve ... comparison ... conventionaeht®logies.

. Potential global climate change was caused ...ssxca&bon dioxide and other gases ... the
atmosphere.

4. Give your own answelNVhat renewable energy technologies do you know?

LESSON 20

|. Words for understanding the text.

HBoo~NoO,rwWNE

NNPE PP R R
NBORENrScoo~Noo R BERED

residual stress
alloy

amplify

bow

chatter
clamping
compressive
cutter
distortion

. disturb

. fabrication
. feed rate

. fixture

. forging

. heat-treating

. induced stress
. inherent

. notorious

. originate

. overhang

. plate

. pose
. release
. reliance
. setup

. shearing
. shop

OCTaTOYHOE HAMpsHKEHUE
CILIaB, JISTUPOBATH
YCUJIMBATh
THYTBCS
IposkaHue, BUOparus, qpo0ieHne, CTyK
3)KUMaHNE, 30KUM, CKPETUICHHE
CKUMAFOITHUH
¢dpe3a
HCKaXXeHHe (DOPMBI, TepeKaIiBaHue
HapyIIaTh, PACCTPaUBaTh
X0J0Hast 00paboTKa JaBIEHUEM, U3TOTOBIICHUE CBAPKOM
CKOpOCTH TOZa9u
32)KMMHOE MTPUCIIOCO0IeHNE
KOBKa
TepMHuUecKas 0opaboTka
HaNpsDKEHKE, BEI3BAHHOE JAPYTUM HAINPSIKCHUEM
MIPUCYLIUI
HW3BECTHBIN
MOPOKIaTh, CO3/1aBaTh
BBIIET, CBEC, BBICTYII
IJIaCTUHA
CTaBHTh
pazKuMarb, OTITyCKaTh, OCBOOOXKIATh
YBEPEHHOCTh
yCTaHOBKA, HaJa/IKa, HAaCTPOUKa
cpe3aHue, pe3ka
30. 1ex, Macrepckas (workshop)
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28. stock MaTepHal, TOJICTBIA JTUCTOBOW METaJlT

29. tensile MIPOYHBIN, PACTSKUMBIHA

30. twist KPYTHUTB, IBUTATHCS TI0 BAHTOBOMW JIMHUH
31. versatile JIETKO MPUCTIOCOOIIIEMBIN, YHUBEPCATbHBIN
32. vulnerable YSI3BUMBII

Il. Read the text and say what problem is discussed

Stress Management

When milling high-performance aluminum alloys, thest way to prevent part distor-
tion is to control residual stresses.

Residual stresses in high-performance aluminunyslfmse extreme challenges to cus-
tomary milling methods. In forging or plate stotkese tensile or compressive stresses originate
in deformation of the material during part fabrioatand are released when the surface of the
part is disturbed. Heat-treating an aluminum wogkpior machining it with endmills 1" in di-
ameter or larger usually releases residual stressas uncontrolled manner. The result is part
distortion.

7000-series aluminum materials such as 7050, 75,7150 are particularly vulnerable
to residual-stress problems. Many metalworking sheyoid jobs involving these materials be-
cause they are notorious for causing productioficdlfies. Other shops, however, are discover-
ing that they can minimize part distortion by usirggidual-stress-management (RSM) tech-
niques to control or reduce stress in a predictailg

Although residual stresses are inherent in the wioaikerial, they may be amplified by in-
duced stresses, such as heat and cutting forc@8-sédies aluminum is very susceptible to heat
due to alloying agents in the material. If the euis ground improperly, or if the feed rate and
speed don't correlate, the poor shearing actigdharcut will induce stress into the part. Chatter
caused by cutter walk may induce stress to thet pdiere it bows or twists the part.

Distortion of a 7000-series aluminum part duringgassing is caused by stresses induced
by traditional manufacturing techniques. These rigples often fail to control surface core
stresses that serve as a release mechanism fduaksiresses in the material. Because of their
over-reliance on past practices in machining alumin machinists may choose inappropriate
processing methods to mill and heat-treat 700@&saalloys. Unless machinists use the proper
machining and heat-treating techniques, they woa'table to control the release of residual
stresses in the workpiece material that lead tbgistortion.

The RSM techniques apply to the milling of highfpemance aluminum alloys as well as
other aluminum materials. Although high-speed maehiare used to mill aluminum, the less so-
phisticated machines still are more common.

The machine tool should permit all operations tgpedormed on the part in the same setup.
Using a versatile machine eliminates the need teenw refixture the part, thereby avoiding in-
duced stresses due to the pressures of clampitgesxand part handling. If a less versatile ma-
chine is used, the need for multiple setups widl@ase the stresses in the part. The fixture must
clamp the part securely and give full support uitierwork. Overhang should be kept to a mini-
mum.

lll. Check your understanding.
1. Fill in the correct word(s) from the list below:
high-performance, stresses, compressive, forces, shearing, manufacturing, shops,
processing, machine
lresidual .......... 6 cutting....... ...
2 s alloys /AT - (o: i (o] ¢
3 metalworking ............... 8feed......ccovvvieeeenn.
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4. techniques LS T methods
5 versatile........... 100 stresses

2. Match the numbers to the letters, then join ttveo parts.

1.Chatter may

2.These techniques fall
3.The fixture must
4.0verhang should be
5.Residual stresses are

a) kept to a minimum.

b) clamp the part securely.
c)inherent in the work material.
d) induce stress.

e) to control surface corestes

IV. Enlarge your vocabulary.
1. Fill in the correct prepositions, then chooseyathree and make sentences.

1) pose sth ... sth/smb; 2) the surface ... the Baminimize sth ... using sth; 4) originate
...Sth; 5) very susceptible ...sth; 6) due ...8jlhecause ... sth; 8) the need ... sth

2. Fill'in the correct word(s) from the list below.

high-speed machines, induced stresses, multiplpsetelease, involving
1) Heat-treating an aluminum workpiece usuallyesidual stresses in an uncontrolled manner.
2) Many metalworking shops avoid jobs ... theseemas. 3) Residual stresses may be ampli-
fied by .... 4) ... are being used to mill aluminush The need for ... will increase the stresses in
the part.

3. Match the numbers to the letters.

1. extrem a) allow

2. customar b) decreas

3. deformration c) if not

4. reduce d) though

5. although e) extraordinary
6. due to f) traditionally
7.induce a) distation

8. unles: h) safel

9. permit 1) cause

10. securely J) thanks to

4. Make questions to the words in bold.

1) Many metalworking shops avojabs involving these materials. 2) The resulipiart
distortion. 3) Some shops can minimize part distortmnusing residual-stress-management
techniques. 4)Because otheir over-reliance on past practices in machirahgninum, ma-
chinists may choose inappropriate processing msthg)dUsing a versatile machinesliminates
the need to move or refixture the part.

5. Give your own answeiVhat is residual-stress-management?
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PART Il (GRAMMAR REFERENCES)

LESSON 1, LESSON 2

Present Simple (to be éstmes, cymecmeosams)

Yr1BepautenpHas hopma

OTtpunatenbHas hopma

Bomnpocurenbaas popma

| am (I'm)

| am not

Am | ?

You are (You're) You are not (You aren’t) Are you ?

He is (He’s) He is not (He isn’t) Is he ?

She is (She’s) She s not (She isn’t) Is she ?

It is (It's) It is not (It isn’t) Is it ?

We are (We're) We are not (We aren't) Are we ?

You are (You're) You are not (You aren’t) Are you ?
They are (They're) They are not (They aren’t) Arewt ?

They are students. They aren’t students. Are theleats?

Present Simple (to have umems, o6naoams)

Yr1BepautensHas Gopma

OTtpunatenbHas hopma

Bomnpocutenbras hopma

| have (|’Ve)y MeEHS €CTh

| don’t have

Do | have?

You have (YOU1VG)/ TeOs ecTh

You don’t have

Do you have?

He has (He’39 HETO eCTh
She has (She1$){ee €CThb
It has (lt’S)y Hero (Hee) ecTh

He doesn’t have
She doesn’t have
It doesn’t have

Does he have?
Does she have?
Does it have?

We have (We’Ve)' HAC ecThb

We don’t have

Do we have?

You have (You've) sac ccrs

You don't have

Do you have?

They have (They1ve}) HMX €CTh

They don’t have

Do they have?

We have a lecture
philosophy.

0

nWe don’t have a lecture ©

philosophy.

mo we have a lecture o

philosophy?

Present Simple

YTBepautenbHas popma

OtpunarenbHas popma

BonpocurensHas ¢popma

| work

| don't work

Do | work?

You work You don't work Do you work?
He works He doesn’t work Does he work?
She works She doesn’t work Does she work?
It works It doesn’t work Does it work?
We work We don’t work Do we work?
You work You don’t work Do you work?
They work They don’t work Do they work?

Present Simplemorpebsiercst:

- I BBIPQXEHUS JEHUCTBHS, MPOUCXOIAIIECTO OOBIYHO, PETYJSIPHO IMOBTOPSIOMIETOCS.
OOBIYHO COMPOBOXKIACTCS TAKUMH HapeuMsIMH U BBIpOKEHHSIMH, Kak: every day/morning/year
Kax bl aers\yTpo\ro, at nightaousio, in the morning/afternoon/eveniggpom\naem\seuepom,
alwaysscerna, oftenuacro, rarelypenxo, seldompenko, usuallyoosuno, neveraukoraa, SOme-
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timesunoraa. (I get up at seven every day except Sunélagcraro B ceMb yTpa KaXkablii JI€Hb,
KPOME BOCKPECEHbSI.)
-71s1 0003HaYeHUsT OOIIEU3BECTHBIX (DAKTOB M SBJICHUM, KOTOPHIE SIBJISIOTCS HEOMPOBEP-

xumoit ucturoit (The sun rises in the east and sets in the Wesiiiie BCX0IUT HAa BOCTOKE U
3aXOJIUT Ha 3armage. )

There is\ There are

Oo6opor there is\there areyka3spiBaioT Ha HaJIMYKE KAKOTO-THOO HE HA3BIBABIIETOCS pa-
Hee MpeaMeTa WIH JIUIA B ONpeaeieHHOM MecTe. [lepeBon mpeayiokeHuit ¢ JaHHBIM 000pOTOM
Haa0 HAYUHATH C OGCTOHTGHBCTBa MecTa.

There is (there’s) a telephona the table. Ha crone (crout) Tenedon.

There are a lot of studentsthe classroom.B kinacce MHOTO CTYIEHTOB.

[Tocne obopora there is\there areucuncisiembie CylecTBUTEIbHBIE B €AWHCTBEHHOM
YHCIIe YIOTPEOISIOTCS C HEOMPEACIEHHBIM apTUKIIEM (&), a HCUHUCIISIEMbIC CYIIIECTBUTEIILHBIE BO
MHOXCCTBCHHOM YUCJIC U HCUCUUCIIACMBIC CYIICCTBUTCIIBHBIC — C MCCTOUMCHUSIMU some, any.

Ecnu B mpennosxkeHnn uMeeTcst 60s1ee 0THOTO MOJISKAIIETO, TO CKa3yeMOe COTIacyeTcs C
INCPBLIM M3 HUX.

There’s a blouse, two skirts and two dresses imidrerobe.

There are some trees, a flowerbed and a small bartble garden.

« ? » — Are there anystudents in the classroom?

Is there a telephone on the table?

How many studentsare therein the classroom?

«— » —There are not (there aren’t) angtudents in the classroom

There is not (there isn’'t)a telephone on the table.

Cmpykmypa eonpocos
1. B crienmanbHbIX BOMPOCAX, OTHOCSIIUXCS K JIFOOOMY YICHY MpeIoKeHus (KpoMe TOo-
JICKAIICIro U €ro onpe;[eﬂeHmI) 1 HAYMHAIOIUXCA ¢ BOIIPOCUTCIILHOTO CJIOBA, BCIIOMOTaTeJILHBIN
TJIarojl CTOUT Tepea MOJJIekalliM, a OCHOBHOM Iuiaroi B gopme uHGUHUTHBA 0e3 yacTulbl {0
COXpaHsIeT CBOE MECTO MOCIIE MOAJIEKAIIETO.

Bonpocu- Bcenomorarensheii [[loanexamee u onpene-|CmbicioBoid riaroi|Ipyrue  yneHbl
TEIbHBIE CJIOBA |TJIaroJI JICHHE K HEMY (nHpUHUTHB) HNpENI0KEHUS
What do you do in the evening?
Where does he go
When your sister return

2. B Bompocax, OTHOCSIIUXCS K MOMJICKAIIEMY HIIM €ro ONpeAeTICHNI0, caMO BOIIPOCH-
TCJIIBHOC CJIOBO ABJIACTCA MOMJICKAIIUM HJINM OMPCACIICHUCM MOAJICKAIICTO, ITO3TOMY IMOJHOCTBIO
COXpaHSETCs MOPSIOK CIIOB YTBEPAUTEIBHOTO MPEIIIOKCHUS:

Who knows his addressRro 3naet ero agpec?

OrBeThl Ha BOMPOCHI:

1. OtBet Ha 00K BONIPOC OOBIYHO OBIBAET KPATKUM:

Yes, | do. No, | don't.

2. CneumnansHbIi Bonpoc TpedyeT moiaHoro, passepuyroro orsera: What language do you
study at university? - | study EnglisKakoii s361k ThI H3yuacinb B yHHBepcuTeTe? — S yuy aHr-
muiickuit. Where does your mother work? - She is a schachir Kem padoraer TBost Mama? —
Ona yyuTenpHHIIA B IIKOJIE.

3. CrenuanbHbIiA BOIIPOC K MOJJIEKAIIEMY, KaK IPaBUIIO, TPEOyeT KPaTKOro OTBETA!

Who translates articles from English journals?delKto nepeBoauT cTtaTby W3 aHTJIHIA-
CKHUX XKYpHaJI0B? —5 mepeBoxy.
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Present Continuous
Ero dopma obpasyercs cienyronm odpasom: to bee nacmoswem epemenu (am, is, are)
+ Participle | embicnosozo enazona (2nazon + ing). I'maronst B popme Present Continuousepe-
BOJATCS HA PYCCKHUM SI3BIK TJIarojaMd HECOBEPIICHHOrO BHA, MHOTAA C J00ABIECHHEM CIIOBA
«ceyac.

YT1BepautensHas hopma OTtpunatenbHas hopma Bomnpocutenbaas popma
I’'m working I am not working Am | working?

You’'re working You aren’t working Are you working?
He’s working He isn’t working Is he working?

She’s working She isn’t working Is she working?

It's working It isn’t working Is it working?

We're working We aren’t working Are we working?
You’re working You aren’t working Are you working?
They're working They aren’t working Are they working?

Present Continuousmorpebnsiercs:

- JUIS TIepelavr JACHCTBUS B €r0 Pa3BUTHUH, IPOUCXOIAIIECE UM B MOMEHT pa3roBopa, Win
B JIJaHHBIN MEPUOJ BPEMEHU, paCCMAaTPpUBAEMBbI KaK MOMEHT COBEpILIEHUs AercTBUs. B npeno-
KEHUW MOTYT YIOTPEOJSIThCS CIEAYIOMNE OOCTOSITEIbCTBA BPEeMEHHU. NOW ceifyac, Temepp; at
this momenst nacrosmii moment. (They are translating the new articleOn# ceituac ne-
PEBOIST HOBYIO CTAThIO. )

Crenyromue riiaroJjibl 0O0Ob9HO He ynoTpeodasiores B Present Continuous:

See, hear, smell, sound, feel, look, taste, nobedigve, guess, imagine, mean, realize,
know, recognize, remember, suppose, understand;léea, like, hate, want, wish, prefer; seem,
concern, consist of, deserve, depend on, involeedncontain, resemble, keep; belong, own,
Owe, pOSsess.

Apmuxns (The Article)

APTHUKIIb — CITy’)K€OHOE CIIOBO, TIOSCHSIOIIEE CYIIECTBUTEIILHOS. B aHIIHMIICKOM sI3BIKE J1Ba
ApTHKIISA: HEOTPEIeIEHHBIN a (an) It CYIMIECTBUTEIBHBIX TOJBKO €AMHCTBEHHOTO YUCIIa U OTpe-
nenéuuplit the. ApTukin 0ObIYHO HE MEePEBOISTCS, HO MHOTA HEONPEASIEHHOMY apTUKIIIO TPU
MEPEeBOJIE MOTYT COOTBETCTBOBAThH CJIOBA OJMH, KAaKOW-TO, JHO0H, a ONpenci€éHHOMY —
ToT(3TH), TOT(TE).

Hampumep: Give me a pen. Haii mue (1100y10) pydKy.

Who can solve the problenkK®e moxer pemmmts (3Ty) npoGiemy.

Ynorpebdnenune  Heompene- | YnorpedJjeHue omnpenesieH- | OTCyTCTBHe apTHKIISA

JICHHOTO aPTHKJIS HOT'O APTUKJIS
1. ¢ ucuuciseMpIMUu 1. c cylIeCTBUTENBHBIM, 1. c cymecTBUTENbHBIMU BO
CYIIECTBUTEIbHBIMHU, €CITH KOTOPOE YIIOMHHAETCSI BTOPOH | MHOKeCTBEeHHOM uucie: We

oHu ynoMmuHarotcs Brepssie: | | pas: There is a flower in the | are students. This room has
can see a bird on the tree. | vase, the flower is beautiful. | got
chairs and curtains.

2. CHa3BaHUAMU Npodeccuii U | 2. CyIECTBUTEIbHBIMH, 2. B psiie YCTOMYUBBIX
3ansTuii: | am a student. He is o6o3nauaromumu cioBocoueTanuii: go home, at
a teacher. IpeIMEThI/SIBIICHHS home, by bus, at work, in time

eIMHCTBCHHBIC B CBOEéM poze: | for example, at night
the moon, the sun, the earth,
the president
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3. C CYIIECTBUTEIHLHBIMHU 3. CHEKOTOPBIMH 3. CHa3BaHUSMHM CTpaH,
nocie obopotoB there is..., it | reorpadgudeckumu rOpOIOB, THEH Heen!,
iS..., this is... , aaxxe nocie | Ha3Banusmu: the South, the | mecsues: Tomsk, Russia,
cioB such, quite, what: This s| Crimea, the USA, the Black | Monday, March

a flower. There is a kitchen. It Sea, the Urals
is a book. Marry is such a

clever girl.

4. c HEKOTOPBIMH 4.1iepen CIeCTBUTEIbHBIMU
BBIPQKEHUSMH KOJIMUECTBA: & breakfast, lunch, dinner,
lot of books, a little water, a supper

few pictures.

Yucno (Number)

B aHrIHIICKOM sI3bIKE, KaK U B PYCCKOM, [IBA YHCIIA. eOUHCMEEHHOE U MHONCECMEEHHOE.
dopma eJMHCTBEHHOTO YKCIIa CIIYKUT [Tt 0003HAYEHHs OHOTO mpeamMera: a table -emon, a pen
— pyuxa. opMa MHOKECTBEHHOTO YKCIIa CITYXKHT Il 0003HAYCHHUS IBYX HJIH OOJIee IPEIMETOB:
tables —emonwt, pens -pyuxu.

Oo6pazosanue MHOINCECMBEHHOZ0 YUCIA UMEH CYUIECHIEGUMEIBHBIX .

MMeHa CymiecTBUTENILHBIE 00pa3yI0T MHOKECTBEHHOE YHCIIO MyTeM MPHOaBJICHHUS OKOH-

vanus -S. [IpaBuiia 106aBIeHIsI OKOHYAHHMS:

-S
dog — dogs, cat — cats

-esmocJe -S,-sh,-ch, -x
bus — buses match — matches
dish — dishes box — boxes

-ies -y
family — families, baby — babies

-smocie ay, -ey, -0y, -uy
day — days, key — keys, boy - boys

-esmocijie — o
tomato — tomatoes
Ho: radio — radios, photo — photos, piano — p&n

-ves - -f, -fe
knife — knives, wife — wives
Ho: roof — roofs

CJI0OKHBIC CyllleCTBI/lTeJIbele:
shopkeeper — shopkeepers
sister-in-law — sisters-in-law

oco0ble cryqamu:
man — men, woman — women foot — feet, child — chifd fish — fish, tooth — teeth, louse
lice, deer — deer, sheep — sheep, mouse — mice,

CYIIECTBUTECJIBbHBIC leOTpeﬁ.]IﬂeMble TOJILKO B ¢IUHCTBEHHOM YHCJIE:
weather, money, knowledge, hair

CyHIeCTBI/lTeJIbeIe yHOTpeﬁJIﬂeMble TOJbBKO BO MHOKECTBECHHOM 4YHCJIE.
trousers, scissors, binoculars

mﬁnpaTeanble CymIeCTBUTEC/IbLHBIE, leOTpeﬁ.]IﬂeMble B €AMHCTBEHHOM M MHOKECTBCHHOM YHCJIE.
army, class, family, team
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LESSON 3, LESSON 4

Past Simple (to be ébims, cymecmeosams)

Yr1BepautensHas hopma

OTtpunatenbHas hopma

Bomnpocutenbaas hopma

| was | wasn'’t Was | ?

You were You weren’t Were you ?
He was He wasn’t Was he ?
She was She wasn’t Was she ?

It was It wasn’t Was it ?

We were We weren't Were we ?
You were You weren'’t Were you ?
They were They weren't Were they ?

They were students last year

They weren't studdatst

year.

Were they students last year”

Past Simple (to have #mems, o61a0ams)

Yr1BepautensHas hopma

OTtpunatenbHas hopma

Bomnpocutenbaas hopma

| had (I'd)

| didn’'t have

Did | have?

You had (You’'d)

You didn’t have

Did you have?

He had (He'd)
She had (She’d)
It had (It'd)

He didn’t have
She didn’'t have
It didn’t have

Did he have?
Did she have?
Did it have?

We had (We’'d)

We didn’t have

Did we have?

You had (You’'d)

You didn’t have

Did you have?

They had (They’d)

They didn’t have

Did they have?

We had a lecture
philosophy yesterday.

o

hWe didn't have a lecture o

philosophy yesterday.

nDid we have a lecture on
philosophy yesterday?

Past Simple

[MpaBusbHBIC TIaroasl 00pasyroT Ghopmel B Past Simpleryrem npubasnenus k ungpunu-
muagy (0e3 wacmuyot 10) cyppuxca -ed (-d)ons ecex ruy eouncmeennozo u MHoICECMEEHHO20

uucia.

Hampumep: to ask ¢npammsars) — asked ¢mpocun); to translate {epeoaute) — trans-

lated frepesen)

Henpasunbhbie rnaronsl oopasyor ¢opmel B Past IndefinitepaznuyabiMu ciocodbamu
(cM. TabmuIy HEMPaBHIILHBIX TJ1arojIoB).

Hanpumep: to goxoauts — went (romen); to write nmucath — wrote @anucan); to come
NPUXOIUTH — Came purien); to givepasats — gave flan); to takedpars — took (3s11)

YT1BepautensHas Gopma

OTtpunatenbHas hopma

Bomnpocutenbaas dhopma

| worked

| didn’t work

Did | work?

You worked You didn’t work Did you work?
He worked He didn’t work Did he work?
She worked She didn’t work Did she work?
It worked It didn’t work Did it work?
We worked We didn’t work Did we work?
You worked You didn’t work Did you work?

They worked

They didn’t work

Did they work?
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His father

worked at th
university two years ago.

pHis father didn't work at the
university two years ago.

» Did his father work at

university two years ago?

the

U

Ceoonasa madauya HenpPasuUIbHLIX 271420108
Infinitive Past Simple Participle Il IepeBon
rise arose arisen BO3HHKATh
awake awoke, awaked awoke, OyZIuTb, IPOCHIIATHCS
awaked
be was, were been OBITH
bear bore born poXxnarhb
bear bore born, borne HOCHTb, BBIHOCHTH
beat beat beaten ouTh
become became become CTaHOBUTHCS
begin began begun HayrHATH(Cs)
bend bent bent rayTh(cs), crudaTh(cs)
bind bound bound CBSI3LIBATh
bite bit bitten KycaTh
blow blew blown IYTh
break broke broken JIOMaTh
breed bred bred BBIBOJIMTh, PA3BOJIUTh
bring brought brought HPUHOCHTH
build built built CTPOWTE
burn burnt burnt TOpETh, )KEYb
burst burst burst paspsIBaTHCS
buy bought bought MOKYIIATh
cast cast cast Opocath, KHJIATh
catch caught caught JIOBUTB, CXBaTHIBATh
choose chose chosen BBIOMPATH
cling clung clung NPWIUIATh, HETUIATHCS
come came come HPHUXOJUTE
cost cost cost CTOUTH
creep crept crept HoJI3aTh
cut cut cut pesats
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deal dealt dealt HUMETD JIEJI0
dig dug dug KOIaTh
do did done nenaTh
draw drew drawn TAIl[UTh; PUCOBAThH
drink drank drunk KT
eat ate eaten €CTh
fall fell fallen najaTh
feed fed fed KOPMHTH (Cs1)
feel felt felt YYBCTBOBATh
fight fought fought 00pOTHCS, CpaXKaThes
find found found HaXOIIUTh
fly flew flown JIeTaTh
forbid forbade forbidden 3alpeIarh
forget forgot forgotten 3a0bIBAThH
freeze froze frozen 3aMep3aTh, 3aMOPAKUBATH
get got got MOJIy4aTh, CTAHOBUTHCS
give gave given JIaBaTh
go went gone HITH, €XaTh
grind ground ground TOYHTH; MOJIOTh
grow grew grown pacTH, BLIPAIIUBATE
hang hung hung BHCETh
hanged hanged —
have had had UMETh
hear heard heard CJIBIIIATH
hide hid hid, hidden TpsITaTh
hit hit hit yIapsTh, IOpaXaTh
hold held held JIepKaTh
hurt hurt hurt MOBPEIMTH, yIIHOaTh
keep kept kept JEPIKATh, XPaHUTh
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know knew known 3HATh

lay laid laid KJIacTh

learn learnt learnt YUUTHCS

learned learned

leave left left OCTaBJIATh, Ye3XKaTh

let let let [TO3BOJISATH, CIABATh BHAEM

lie lay lain JIeXKATh

light lit lit 3a)KAraTh, OCBELIATH

lighted lighted

lose lost lost TEPATH

make made made JIeJIaTh, 3aCTaBIATh

mean meant meant 3HAYUTh, IOAPA3YMEBATH

meet met met BCTpeYaTh

pay paid paid [UIATUTh

put put put KJIaCThb

read read read YHUTATH

ride rode ridden €31UTh (BEpXOM)

ring rang rung 3BOHUTD, 3BEHETh

rise rose risen TOTHUMATECSI

run ran run Oexatpb

saw sawed sawn MIIATh

say said said TOBOPHTH, CKa3aTh

see saw seen BUICTH

sell sold sold Mpo/iaBaTh

send sent sent MOCHLIATh

set set set MOMENIaTh, CTABUTh, 3aX0AUTh (0
COJIHIIE)

shake shook shaken TPSACTH

shine shone shone CHSITB, CBETUTD

shoot shot shot CTpENATh

show showed shown TIOKa3bIBATh

shrink shrank shrunk CMOPILUBATHCS, COKPAIIATHCS
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shut shut shut 3aKpBIBATh

sing sang sung neThb

sink sank sunk HOTPYKAThCS, TOHYTh
sit sat sat CHICTH

sleep slept slept CraTh

slide slid slid CKOJIb3UTh

smell smelt smelled smelt smelled NMaxHyTh

sow sowed sown CesTh

speak spoke spoken TOBOPHTH

speed sped sped CIIEIINTH, YCKOPATh
spell spelt spelled spelt spelled ggcg;%;gﬁﬂ HPOM3HOCUTH CIIOBA
spend spent spent TPaTHUTh

spill spilt spilled spilt spilled [PO/UBATH

spin span, spun spun npsICTb

split split split packanuBaTh (cs1)
spoil spoilt spoiled spoilt spoiled OPTHTH

spread spread spread pacnpocTpassTh (cs)
stand stood stood CTOSITH

stick stuck stuck OPHUKICHUBATH (C51)
sting stung stung HKAITUTh

strike struck struck yIapsATh; 6acTOBaTh
strive strove striven CTPEMUTHCS

sweep swept swept MECTH

swell swelled swollen YXHYTh, Pa3lyBaThCs
swim swam swum IUIaBaTh

swing swung swung kayath(cs), pa3MaxUBaTh
take took taken Opatb

teach taught taught 00y4aTh, y4UTh

tear tore torn pBaTh

tell told told pacckasbiBaTh

think thought thought JyMath
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throw threw thrown Opocartb

understand understood understood MOHUMATh

wake woke waked woken OyIOHTh, IPOCHINATHCS
waked

wear wore worn HOCHTh

win won won BBIUTPHIBATH

wind wound wound 3aBOJIUTh, BUTHCS

write wrote written TIHCATh

Past Simpleymorpeobisiercs:

- JUIs BBIp@KEHUS Psijia IOCIICI0BATENbHBIX JAelicTBHi B mporwioM. (He stood up, came up
to the window and saw an endless stream of carsgralong the stree©u Bcrain, momomien K
OKHY U YBUJIEJI OECKOHEYHBII TTOTOK MAallHH, SAYIIUX MO YIIHUIIE.)

- Korja JeHCTBUE COOTHOCUTCSI C OOCTOATEIbCTBEHHBIMU CIIOBaMH, TOYHO 0003Hayaro-
IMIMMU TIPOIIEAINIee BpeMs, HanpuMmep: Hapeunms ago ToMy Haszaxn, Yyesterdaysuepa, last
month/week/yeas nporiom mecsie/Ha nmpouutoit Heaene/s npouutom roay u T.m. (My friends
came to see me on SaturdayMeu apy3bsi IpUxouId KO MHE B cy00oTy. We didn't get home
until midnight. =Ms1 qo6panuchk 10MOI TOJIBKO B TIOJTHOYb. )

- KOIJJa UHTEPECYIOTCSI BPEMEHEM COBEPIUCHMS JCUCTBUSA B IPOLLIOM, T.€. B BOIPOCH-
TEJILHOM TIPEIIOXKEeHNH, HaunHaromemcst ¢ when?, what time? (When did you see her lafd—
rna Bel Bujenu ee B nocieanuid pa3? What time did you arrive home?Kerna Bbl 100panuch
JIOMOIA?)

Have got

B pasroBopHoii peun BMecTo t0 haveouens yacto ymorpebdasercs have, has got (‘ve/'s
got):

I've got a good car. VY MeHs XOpoliias MalinHa.

Have you got an English dictionary? V¥ Bac ecTh aHTTTHICKHIT ClI0Baph?

I haven't got an English dictionary. Y MeHs HeT aHTJIMHCKOTO CIIOBaps.

YTBepautenbHas popma OtpunarenbHas popma Bonpocurenshas popma

| have (I've) got | have not (I haven't) got Have | got?

You have (You've) got You have not (You haven't) got Have you got?

He has (He’s) got He has not (He hasn’t) got | Has he got?
She has (She’gjpt She has not (She hasn’t) got| Has she got?
It has (It's) got It has not (It hasn't) got Has it got?

We have (We've) got We have not (We haven't) got vétae got?

You have (You've) got You have not (You haven't} gaHave you got?

They have (They've) got They have not (They hayerHave they got?
got

IIpumsscamenvnoiit nadesc (Posessive ‘s)
Cy1iecTBUTEIHHOE B MPUTSHKATEIFHOM TMAJIEXKe CITY>KUT OMPEEICHHEM K IPYroMy CyIie-
CTBHTEJIBHOMY M OTBEUacT Ha Bormpoc Whose? —eii?, 0603Hauast MprHAUICKHOCTD MTPEIMETA.

IpuTsbkarenbHbIi magex ¢ ‘ §/S “of”

1. CymecTBuTebHOE B €IMHCTBEHHOM YHCIIE 1. of +HCOYIICBICHHBIC CYIIECTBUTEIIbHbBIC
('mroM ¥ KUBOTHBIE) + 'S the banks of the river

the girl's dress the cat's tail the price of success
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2. CyiiecTBUTENbHBIE BO MHOKECTBEHHOM
qucie + 'S

the girls' dresses

2. of + cymiecTBUTEIBHBIE B MPUTSHKATEIILHOM

MmaacxKe, MMPUTAXKATCIIBHBIC MECTOUMCHUA,

CYILLIECTBUTEIBLHOE + OIPENECIUTENBLHOE CIOBO

(this, somei T.1.)

That s a friend of Mary's. I've got a book of ya

3. CYH_IGCTBI/ITGJIBHBIG BO MHOKECTBEHHOM YHCJIC
(nmerorme ocobyro popmy) + 'S
The children's toy

4. CocTaBHBIC CYIIIECTBUTENBHBIC + 'S
my brother-in-law's car

5. 'smocre 1enoi rpymnimsl CIoB
Ted and Mary's house

6. STocne Kax/I0ro ¢cI0Ba B IPYIIIE CIIOB
Ted 's and Mary's houses

Mecmoumenue (The Pronoun)

u

JInunbie KocBennwnii manex | [Iputsokarenshbie | AGCOIIOTHAS Bo3sBparnbie
MCECTONMMCHU A JIMYHBIX MECTONMMCHUA q)opMa MECTOMMCHUA
(kro?— wWho?) | MmecTroumeHuii (ueit? — whose?) | mpuTsKaTeabHBIX

(xomMy? KOro? u T.1. MECTOUMEHUN

—whom?) (ueii? — whose?)
I me my mine myself
You you your yours yourself
He him his his himself
She her her hers herself
It it its — itself
We us our ours ourselves
You you your yours yourselves
They them their theirs themselves

LESSON 5, LESSON 6

Cnocoowl viparxcenusn 0yoyuieco epemenu 8 QH2IUILCKOM A3bIKe

To be going to + infinitive

YT1BepautensHas hopma

OTtpunatenbHas hopma

Bomnpocutenbaas dopma

I’'m going I am not going Am | going ?
You're going You aren’t going Are you going ?
He’s going He isn’'t going Is he going ?
She’s going She isn’t going Is she going ?

It's going It isn’t going Is it going ?
We're going We aren’t going Are we going ?
You're going You aren’t going Are you going ?

They're going

They aren’t going

Are they going ?

Koncmpykyusa «to be going + infinitive>ymorpeoasiercst:
- JUIsl BBIPQ)KCHUS ISHCTBHS B OyIyIIeM BPEMEHH, KOTOPOE JCHCTBYIOIIEE JIUIIO NIaHUDY-
em unu mamepesaemcs ocywecmeums. Ha pycckuil si3bIk IEpEeBOJUTCS codupamuvcs, Hamepe-
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samvcsi coenamv umo-aub6o. VHorma Moryr ymoTpeOnsaThes BoIpakeHus tonight, tomorrow.
(She’s going to have a bathOsa cobupaercst npuHATH BaHHY.)

- JUIS BBIPQKCHUS JCHCTBUS B OyAyIleM BpPEeMEHH, MPU3HAKKM KOTOPOTO OYECBHIHBI B Ha-
crosiieM. (He's got a toothache. He's going to see hisidenty nero 6osut 3y0. OH molaer k
TaHTUCTY.) YacTo MCIoNb3yeTcs mocjie TakuX IIIaroyioB kak: be sure, believe.

Present Continuous
MOXET 0003Ha4yaTh Oynyiee neiicTBue (ocoOeHHO ¢ riiarojamu COme, go, stay, start,
leave),ecnu oHO sIBIIsIETCS 3apaHee Hameuennvim u peutennvim. (She’s coming back tomorrow. —
Ona Bo3Bpamaercs 3aBTpa.)

Future Simple
Future Simpleoopasyercs npu nmomoru shall s 1 nuna ex. u mu. grcna) u Will (s
BCEX OCTAJBHBIX JIUII) + UHPHUHUTHB.

YTBepautenbHas popma OtpunarenbHas popma BonpocurensHas ¢popma
| shall (I'll) go I shan’t go Shall I go ?

You will (You'll) go You won'’t go Will you go ?

He will (He’'ll) go He won't go Will he go ?

She will (She’ll) go She won't go Will she go ?

It will (It'll) go It won't go Will it go ?

We shall (We’'ll) go We shan’t go Shall we go ?

You will (You'll) go You won’t go Will you go ?

They will (They'll) go They won't go Will they g@

She will enter the universityShe won't enter the universitywVill she enter the university
next year. next year. next year.

Future Simpleynorpebnsercs:
- IS BBIp@KEHHMSI JACHCTBHS B OYIyIIEM CO CIEAYIOIUMHU 00CTOATEIbCTBAMU BPEMEHHU:
tomorrow —sasmpa, next week —wua 6yoyweii (credyoweti) nedene, next month —s
crnedyrowem mecsiye, Next year —s 6yoywem 200y, in two (three) days —epes osa (mpu)
Ons, in a week —uepes neoenro, in @ month —uepes mecsy, in a year —uepes 200 u t.1. (I'll
go to the theatre tomorrow.Smoiiay 3aBTpa B TEaTp.)

- UTS BBIPQKEHUSI MHEHUS TOBOPSIIETO, MPEAMOIOKECHHUS, Pa3MBIILICHUS 0 OyIyIIeM IMo-
clie TIaroyioB: assume, be/feel sure, expect, hope, know, supihdsennu nocne Hapeunii: per-
haps,possibly, probably, surely(l hope he’ll be here at 5 o’clock tomorrow Slianerocs, on
3aBTpa Oyzer 31ech B 5.)

- 1S BeIpaskeHus (hakTa, MCTUHBI, OTHOCAIMMXCA K Oyaymemy. (“Live Journal” will re-
place newspapers in two years.Kugoii ®ypHaI» BBITCCHHUT Ta3eThl uepe3 JBa roja.)

Heonpeodenennvie mecmoumenus u ux npouszeoonsie (Some, any, etc)

Hekoropslii, He-

qTO-TO KTO-TO rae-To, Koraga-To
CKOJIBKO
+ (B yTBEpAMTENBHBIX . somebody, some-
(B yrsepn some something y somewhere
MIPEUTOKEHUSIX ) one
- (B oTpumaTeNbHBIX [NO nothing nobody nowhere

MPEITIOKEHUSAX TPU yT-
BepaUTENbHON  opme
TJ1aroJia)
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? (B BOIPOCHTEIBHBIX
OPEIOKEHUSIX M B
NPETIOKEHUSIX C OTPH-
LaTEIbHON bopmoit
J1aroJia)

any

anything

anybody, anyorlanywhere

I've got some
books on con
puter science.

There is somethir|
at the floor.

| didn't see hin
anywhere.

There was nioody
in the room.

Mecmoumenusn: mnozo, maro (much, many, a little, a few)
C HCYHCJISIEMbIMH CYIECTBHTEIbHBIMH:

MHOTO:

MaJto (HEJI0CTaTOYHO)

MaJto (JI0CTaTo4YHO)

many, a lot of

few

a few

There are a lot of
ples in the garden.

ap- There are few apples

the plate.

There are a few books on {
shelf.

B caxy mHOTO 51670K.

Ha rtapenke mano s0-

JIOK.

Ha monke HEMHOIO KHUT.

C HCUCYUNCIAECMbIMH

CYINECTBUTEJIbHBIMM.

MHOTI'O

MaJto (HeI0CTaTOYHO)

MaJto (J0CTaToYHO)

much, a lot of

little

a little

He has a lot of fre
time.

We have little milk in th
bottle.

There is little jam on th
plate.

Y Hero MHOIro CBO-
00HOTO BPEMEHH.

Y Hac B OyTBUIKE Majio

MOJIOKA.

Ha Tapenke wmayno BapeHbs
(HO mocTaTOYHO IS HAC).

“to + infinitive”

UCToNb3yeTcst A obo3Hadenus e (3auem?). (They went there eartp get good tick-
ets — OHu NOLUTH Ty/Ia PaHo, uMmoObl O0CmManms xopoutue ouiemal.)

LESSON 7, LESSON 8

IIpeonozu (Prepositions)

Ilpeonozu épemenu

Seasons Days of the wegk Years Centuries

in (the) spring on Sunday in 1980 in the

in (the) summer on Monday in the 198(0s nineteent
in (the) autumn on Tuesday during the century
in (the) winter on Wednesday eighties B 10 Beke)
(BecHoit, neTom u on Thursday H 80m rony)

T.11.)

T.J1.)

on Friday
on Saturday
(B BOCKpeceHbe H

Cnoeocouemanus
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at 2 o'clock —s 2 gaca time —BoBpems

about 2 months —ekono 2 mecsitieB after the lessonmeene ypoka

by 3 o'clock —x 3 yacam in 8y$ —uepe3 3 qHs

since 5 o'clock —e 54acoB after thar —mocie BoiHEI

till 10 o'clock — a0 104acos during tham—gso Bpemst BOITHBI
from 5 to 6 o'clock —e 5 1o 6 wacos before 19137e-1913r.

for 3 hours —s Teuenue 3 yaca

IIpensnoru mecra, IBUKEHU S

Iil on Ha | DI across yepes

El in B (rme?) /E/ through ckBoss
—_ D to B (Kyna?) —EI into B (BHYTDB)

at, near GROAOC,

D. by Boase, ¥ E—)- out of M3

I:I under 00, D-) from c

D behind TIOSa O D :l: up BBEpPX

1 2% nax (O] down o

D in front of nepen D along EAAJL

—
E]- I:I between MEMRITY - I:] - (a) round BoKpyT, 3a

DCP among cpeam —[] towards x

Cmenenu cpagHeHUs NPUIAZAMETIbHBIX
B aHrnmuiickoM s3bIKe pa3iMYalOT TPU CTCIICHU CPABHCHHS MPHJIATaTENIbHBIX: TMOJIO0MKH-
tenbHyO (the positive degreegpasuutenbnyio(the comparative degree)npeBocxoanyro(the
superlative degreeJlpuiarareibHbie B MOJTOXHUTEIBHON CTEIICHH HE MMEIOT HUKAKUX OKOHYa-
Huit, Hanpumep: slow, straight, productive, curious.
Oépaszoseanue
CpaBHHTeJbHAS H MPEBOCXOHAS CTETICHH 00Pa3yIOTCs IBYMs crioco0aMu:
1. ITyrem npubaBnenus cypdukca —€r B CpaBHUTEIBHON CTENEHU U —€StB IpeBOC-
XOJIHOHM CTEMEHH K OCHOBE OJIHOCJIOKHBIX MPHIAraTe/IbHbIX (Takux Kak new, big, quick)u aBy-
CJIOJKHBIX TpUJIaraTesbHBIX, OKaHUWBArOIMMXCs Ha -y (Takux happy, heavy)Hekoropsie aBy-
CITO’KHBIE MTpHUJIAraTeNibHbIe, TaKUe Kak quiet, clever, narrow, shallow, simplevoryt 06pa3oBsi-
BaTh CTEIICHU CPABHEHUS KaK TMIEPBBIM, TaK U BTOPBIM CIIOCOOOM.
[Ipu npubasnennn cypdukcoB —er, -eStueodxoaumMo cobI0aaTh CIeAyIoIIre MpaBuia
MIPABONMCAHUS:
* [IpunaratenbHbie, OKAHYMBAIOIIKUECS HA —Y , KOTOPOMY MPEAIIECTBYET COTJIacHas,
MEHSIOT —Y Ha —i, Hanpumep: heavy — heavier — the heaviest.
* [IpunaratenbHble, OKAHYMBAIOIIMECS HA —Y , KOTOPOMY IPEIIISCTBYET IilacHasd,
KOHEUHYIO0 OYKBY HE MEHSIOT.
*  OOHOCIIOXKHBIC TIpHJIAraTeNIbHbIe ¢ KPAaTKUM TJIACHBIM Y/IBaWBalOT KOHEYHYIO CO-
riacHyro, Harpumep: big — bigger- the biggest, fat — fatter - thedat.
* [IpunaratenpHbie, 3aKaHYMBAIONIUECS HA —€, PUOABJISIOT TOJIBKO —I U -St, Hanpu-
mep: fine— finer — the finest.
2. C moMmoInpro CII0OB MOre B CpaBHUTENIBHOM cTereHu u the mosts mpeBocxoaHoM
CTETICHU TIePe/l MHOTOCI0KHBIMYU TPHIATaTeIbHBIMU U BYCJI0KHBIMHU, OKAaHUNBAIOIIIMMUCS Ha
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—ful, -less, -ed, -ing HexoropeiMu apyrumu (Hanpumep: careful — more careful — the most care-
ful, personal — more personal — the most persdimaj —more tired — the most tired, afraid -
more afraid —the most afraidfapeuwnst, 3akanunBaronecs Ha —ly, Takke 00pa3ylOT CpaBHU-
TEJNBHYIO CTENEHb C MOMOIIbI0 More, nanpumep: Slowly — more slowly, easily — more easily,
carefully — more carefully.
HexkoTopble npuiarateJbHble 00pa3ylOT CTeNeHH CPABHEHNSI He M0 001eMy NpaBu-
ay:
Little — less -etleast

Much, many — more — the most

Good —better — the best

Bad — worse — the worst

Far — farther — the farthest faccrosnum)

Far — further — the furthesi pemenn u paccrosiarm)

Near — nearer — the nearaspéccrosinun)

Near — nearer — the nextifopsake ciemroBanus)

Late — later —the latest gpemenn)

Late — latter the lasb (mopsiaxe ciemoBamwst)

Old-older — the oldesb(Bo3pacte)

Old —elder —the eldesb ¢rapmurcTBe)

e CpaBHHUTeJbHASl CTEIICHb UCIIONB3YETCs, KOT/Ia CPAaBHUBAIOTCS JBa mipeamMera. [Ipu aTom
UCToJb3yeTcs coro3 than:

I’m now more experiencetthan two years agod remeps 6ojice OnbITEH, YeM 2 roja Ha-
3al.

* [lpunararenbHbie B MPEBOCXOAHOM CTENIEHU YacCTO MEPEBOASATCA HA PYCCKUU SI3BIK C IO-
MOIIIBIO CJIOBA caMblii. B IpeBOCX01HOI cTereHn Bceraa yrnoTpeOsieTcsl OnpeaeIiCHHbIN
apTukis the.

It wasthe hottestday of the yeardto 6b11 camblii skapKuii 1€Hb B TOAY.
It wasthe most boringfilm I've ever seento ObuT camMblii CKY4HBIN (UIBM,KOTOPBIH 5
Korjaa-nmu0o BUAET.
* PaBHOe Ka4ecTBO NPEIMETOB, NCHCTBUN WM SBJIICHUM BBIPAXKAETCSA C IIOMOIIBIO COIO30B
as...as...Ilpu »ToM ynoTpeOsieTcs MoJI0KUTEeIbHAS CTCIICHh CPAaBHEHUS.
I’'m astall asyou. I takoii ke BBICOKHIA, KaK U ThI.
It wasas coldasin winter thereTam 06buT0 X010/1HO, KaK 3UMOIA.
* HepaBHoe kauecTBO MPEIMETOB BhIpakaeTCs ¢ MOMOIIKI0 NOt as (S0)..as...
I’'m not as (so)ich as Mike. 5 ne Takoii 6orateiii kak Maiik. (Maiik 6oraue)
| dan’t know as many peoples you do.S 3uaro He Tak MHOTO Jitofel, Kak Tol. (ThbI
3HaEIIb 0OJIbIIIE)

* Eciu 0IHO SIBJICHHE 3aBUCUT OT JIPYroro, TO B TAKOM CJIy4ae UCIIOIb3YETCS KOHCTPYKLIMS
the...the... u cpaBHuTENBHAS cTemeHb mpuiararensHoro. The...the... mepeBoauTcs Ha
PYCCKHIA A3bIK KaK 4YeM...TeM... (He MyTaTh ¢ MCIOJb30BAaHHEM apTHKISA B MPEBOCXO/I-
HOI cTereHu!)

The warmer the weatherthe better | feel. Yem temtee moroaa, Tem mydiie s ceost
YYBCTBYIO.

The longer she waitedthe more impatient becamélem ngosbiie oHa x1aia, TeM He-
TepIrenuBee OHa CTAHOBUJIIACH.

LESSON 9, LESSON 10, LESSON 11

Present Perfect
Oopazyercs Bpems: Present Perfectpu nomomu rnarona have (has)y Participle 11 (3-s
gopma cnpazaemozo 2nazona).



71

YTBepautenbHas popma

OtpunarenbHas popma

BonpocurensHas ¢popma

| have worked (I've worked)

| haven’t work

Have | worked?

You have worked (You've
worked)

2 You haven't work

Have you worked?

He has worked (He’s worked
She has worked (She
worked)

It has worked (It's worked)

He hasn’t work
sShe hasn’t work
It hasn't work

Has he worked?
Has she worked?
Has it worked?

We have worked (We'vg
worked)

>\We haven't work

Have we worked?

You have worked (You've
worked)

2 You haven't work

Have you worked?

They have worked (They'v
worked)

eThey haven’t work

Have they worked?

He has seen her th

$He hasn’t seen her this week

week.

Has he seen her this week?

YK€ MHOTO JIET.)

Present Perfecynorpeomnsercs:
- 1S BRIp@)KEHHSI 3aBEPIIMBIIECTOCS CHCTBYSI, KOTIa BpeMs aeicTBusl He yka3aHo. (I have
seen a new film. A Bunen HOBBIN QUITBM.)
- ¢ 00CTOSTEIbCTBAMH, BBIPAKAIOIIMMH MIEPUO]] BPEMEHH, HE 3aKOHUUBIIHUICS O MOMEH-
ta peun (today, this week, this month, this year). (Theyd completed the work this week. —
Omnw 3aKoHYMIM PabOTy Ha 3TOH Hefene.)
- ¢ HapeuusMHU HeolpeaeeHHoro BpeMenn: alwaysscernma\ seldompenko\ everkorna-
6o\ alreadyy:xe\oftenuacro\ just ronbko uro\ neveraukoraa\ not yet eme He\. B 3ToM ciryuae
rinaroi B popme Present Perfectobrano nepeBoauTCs Ha PYCCKHIA SI3BIK TJIAr0JIOM HECOBEPILCH-
noro Buza. (I have never read that bookSl-aukorma e unrtan ot kauru. He has been to Lon-
don many times. —On MHoro pa3 6siBai B JIOHI0HE.
- JUTsl 0003HAYCHUS JICHCTBHSI, HAYaBIIETOCs B MPOILIOM M TPOJODKAIONIETOCS B HACTOS-
IIeM, co coBaMH SiNCec, ¢ Tex mop kak u for B Teuenue, B 3ToM ciydae riaron B popme Present
Perfectoobuno mepeBoaUTCS HA PYCCKHIA SI3BIK IIIarojioM B HactosineM Bpemenu. (I have known
him since 1970. A 3naro ero ¢ 1970roxa. He has lived here for many yearsO# xuBer 31ech

Ilpuoamounvie onpedenumenvHvie NPEONOHCEHUA

Whol/that

Which/that

Where

JKMBOTI'O CyHICCTBA

JUISL ONIPEENIEHUS YETIOBEKa,

JUISL ONIPEAEIIEHUS IIPEeIMETa
WJIH )KUBOTHOT'O

AJI OIIPECACIICHUSA
MCECTOPACIIOJIOKCHUSA

who/that sells medicine i
shop.

A druggist is someone

A subway is a railway
n a which/that runs under the
ground.

A parking lot is a place wher
you park your car.

112

Describing objects

It's a thing you use to + infinitive..

It's + for + V —ing.

It's + noun +to do something with (on, in)
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It's + for + V — ing something out of (with, in)

LESSON 12, LESSON 13, LESSON 14

Mooanwvnusie znazonst (The Modal Verbs)

MopanbHbIe TJIarosbl BEIPAXKAIOT HE CaMO JICHCTBUE MM COCTOSIHUE, & OTHOIICHNE K HUM
€O CTOPOHBI ToBOPsiiero. C MOMOIIBI0 MOJANBHBIX TJIar0JI0B MOXHO MOKa3aTh, TO JICHCTBHE
BO3MOXKHO MJIM HEBO3MOXKHO, 00SI3aTEIbHO MIIA HE HY)KHO, BEPOSTHO WIIM HEMPABIOMOI00HO,
KeIIaTeIbHO | T. . MoJalbHBIMH SBIISIOTCS TIaroiel can, may, must, ought, should, would,
need, shall, willOco0eHHOCTHI0 MOAAJIBLHBIX I[JI1AT0JIOB SIBJISIETCS TO, YTO OHH,

1. He UMEIOT MOJHOTO CaMOCTOSTEIBHOTO 3HAYEHHUS M YIIOTPEOISIOTCS B COYETAHUU C HH-
(UHUTHBOM CMBICIOBOTO rtarona (6e3 gactuisl t0);

HE UMCIOT HH()DUHUTHBA, IPUIACTHS, TEPYHIHS;

HE UMCIOT OKOHYAHHUS -SB 3-M JIMIIC €AMHCTBCHHOIO YMCIIa HACTOSIIETO BPEMEHH;

HE UMEIOT ()OPMBI MPOIIEIIET0 BpeMEHH!, KpoMe Can, may Oyayiero BpeMeHH;
00pa3yroT BOMPOCUTEIBHYIO U OTPHIIATENIbHYIO0 (JopMy O3 BCTIOMOTaTEIHbHOTO TJiaroia to

do.

ablrown

3nauenun u eapuanmol ynompeoaeHus MoOAIbHbIX 2NA20108.
CAN

['maron canwumeer 3Ha4CHHE MOUb, 001A0AMb PUULECKOU UIU YMCMBEHHOU CNOCOOHO-

cmvio.

Hacrosiniee Bpemsi — can —mory, Mo:xet, Mmoxem u T.1. (Can you speak English?Bsr
MOYETe TOBOPHUTD MO-aHTITUICKU?)

Ipomenmee Bpemsi — could —mor, Moria, MOTJI0 U T.A.

Coueranue t0o be able todsims ¢ cocmosanuu c nocnenyronM HHOUHATHBOM SIBIISIETCSI
SKBUBAJICHTOM IJIaroyia Canu BocrnosHsieT ero Henocratomme Gopmsl. (We shall be able to do it
only tomorrow. -MsI cMOXKEM c/ielIaTh 3TO TOJIBKO 3aBTPa.)

MAY

[maron may uMeeT 3HaYCHUS paspeuteHuss U 803moxchocmu. May (HacTosiiiee BpeMs)
MOTY, MOKET, MO3KeM U T.1.; might (mpomenmee Bpemsi) mor, morsim u T.1. (May | come in? —
Mosxuo mue Boiitr? He may be at home. ©H, MmoxeT ObITh, T0Ma.)

Coueranus to be allowed tou to be permitted to ¢ mocnenyrommuM UHPUHATHBOM SIB-
JSIFOTCSL 9KBUBAJICHTOM IJIarojia Mayu BOCIOJIHSIOT €ro He0CTaoMe GOPMbI B 3HAUCHUU MOUb,
umems paspewmenue. (He was allowed to come in.Emy pa3pemiiu BoiTu.)

MUST

['7aron MuUSt BeIpakaeT HeoOX00UMOCMb, MOPATbHYIO 00S3AHHOCMb U COOTBETCTBYET B
PYCCKOM SI3BIKE CIIOBAM 00J1MCeH, HYHCHO, Hado. I'maroa mustuMeer TOIbKO OaHY (GopMmy Ha-
crosiero Bpemenu. (You must do it yourself. Ber 1omkHBI 3TO ciears. )

Hapsiy ¢ rarosoMm mustu B3aMeH ero HeIOCTAOIIUX (OPM YIOTPEOISIOTCS SKBHBAJICH-
ToI 10 have to(momken B cuiry 00CTOsATENLCTB) M 1O be to (momKkeH B CHIly 3allIaHHPOBAHHOCTH,
HameueHHoctu aerictus). (It was raining heavily and we had to stay atnbko—Illen cunbHbIiI
JIOXK/Ib, U MBI TOJDKHBI ObUIM ocTaTthes noma. He is to take his exam in June Qs nomxeH cna-
BaTh TOT K3aMEH B HIOHE.)

OUGHT

I'maron ought BepakaeT MOpaJIbHBIN JIONT, JKEJIATEIBHOCTh ACHCTBHS, OTHOCSIIHECS K
HacTosuieMy u OynymieMy Bpemenu. Ha pycckuii si3bik OUght mepeBoIuTCs CII0BaMH C/1€006a/10
ovt, cnedyem, oonxncen. Tlocne oughtunpuuutus Becerna ynorpetnsercs ¢ yacruieit to. (You
ought to see a doctor.Febe cremoBano Obl 0OPaTUTHCS K Bpady.)

SHOULD
I'naron should B kauecTBe MOAaIBHOTO TJIaroyia BeIpaXkaeT 00I3aHHOCTD, KeIaTeIbHOCTh
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JIEWCTBUS, COBET, pekoMeHamuio. Ha pycckuii si3pik ShouldnepeBoaures kak czedyem, docen,
o6s3an. (You should know about it. Bam cnenyer 3HaTh 00 3TOM.)
WOULD

I'maros would B kauecTBe MOAAIBLHOTO TJIarojia MOXKET BBIPAXKATh:

a) OOBIYHBIC M TOBTOPSIOIIAECS ICHCTBUS B MPOILUIOM (B 3TOM 3HAYCHHUHU OH SIBJISETCS
cuHoHMMOM BbIpakeHuto used to). fle would spend hours in the Tretyakov Gallery. —
OHn 00BIYHO TIPOBOIMII MHOTHE Yachkl B TpeThsikoBckoii ramepee. = He used to spend hours in the
Tretyakov Gallery. -On mo0ui npoBoAUTs MHOTHE Yackl B TPEThSIKOBCKOU rayepee.)

0) ymopHOe HeXeaaHHWE BBIMOJHUTH Kakoe-To aeiictBue. (I asked him to do it but he
wouldn't. = monpocwui ero cieaaTh 3TO, HO OH HU 3a YTO HE XOTEJ.)

B) MPHCYIIEE CBOMCTBO, XapaKTEPUCTUKY (4acTO BCTPEYAETCsl B TEXHUYECKOW JTUTEPATy-
pe). (Paper would burn. Bymara xopoo ropur.)

I) pe3yabTaT BooOpakaeMoi cutyanuu. Ha pycckuil S3bIK MEPEBOIUTCS YACTHIICH <OBI».
(Where would you go? Kyna Obl BbI moexayin?)

NEED

NeedmoxeT ynoTpeOasaThess Kak MOJAIbHBIN TJ1aro)l U Kak MpaBUIIbHBIN Tiaron. Kak mo-
JajdbHBIA raron needumMeer ToabKo OAHY (GopMy. OH B OCHOBHOM YIOTPEOJISIETCS B OTpHUILA-
TenbHBIX npemiokenusx. (You needn't come here todayTebe He HY)KHO PUXOAUTH CIOJA CE-
TOIHS.)

SHALL and WILL

OTH T7aroJbl SBISFOTCSA HE TOJBKO BCIOMOTaTelIbHBIME, HO U MonanbHbiME. Korma shall
CTOMT BO BCEX JIMIIAX, OH O3HA4aeT npukasauue, obewanue, yeposy. (He shall be punished. —
Ou Oyner HakasaH. (yrpo3a))

Korga will crout B 1-M stuiie, oH 03HayaeT He TOIBKO OyIylee BpeMsi, HO U JKeJIaHHe WU
Hamepenwue uro-auoo caenath. (I will help him. =51 emy momory. (3To Moe *xenanwe))

LESSON 15, LESSON 16, LESSON 17

Past Continuous
dopmer Past Continuousbpasyrores cieayomum obpazom: to bee npouweowem epeme-
nu (Was, were) + Patrticiple kmsicnosozo znazona (znazon + ing).

YTBepautenbHas popma OtpunarenbHas popma BonpocurensHas ¢popma
| was working | wasn’t working Was | working?

You were working You weren’t working Were you working?
He was working He wasn’t working Was he working?

She was working She wasn’t working Was she working?

It was working It wasn’t working Was it working?

We were working We weren't working Were we working?
You were working You weren’t working Were you working?
They were working They weren’t working Were they working?
He was translating the articleHe wasn’'t translating theWas he translating the article
when | came. article when | came. when you came?

Past Continuousymorpebmsieres:
- JUIsL BBIpaXKCHUS NEUCTBUS, KOTOPOE MPOJOJIKAIO COBEPIIATHCSA B ONPEACIICHHBIA MO-
MEHT WJIM OTPE30K BPEMEHH B MPOIILJIOM, 0003HAYaeMOM JINOO TOYHBIM YKa3aHUEM MOMEHTA HJIH
OTpe3Ka BPEMEHH, JIMOO IPYruM JeicTBUEM, BBIpaXeHHBIM ritarosiom B Past Simple. (We were
working in the lab from 5 till 7 o'clock. Msr pabotanu B maboparopuu ¢ 5 10 7 4acos.)
1) Subject + Past Continuoushen + Subject + Past Simple.
2) While + Subject + Past Continuguubject + Past Simple
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3) Subject + Past Simpiehile + Subject + Past Continuous.

Present Simple Passive, Past Simple Passive, FuBineple Passive
CrpanarenbHbiii 3asior — Passive Voice HokasbIBaeT, uTO MPEAMET WIIH JIUIIO, SBIISIO-

rieecst mozuIeKaMM, noasepraercs aeicreuio. (The radio in Russia was invented by Popov. —

Paauo B Poccuu 6b1u10 300peTero [TonoBbiM. )
Bpemena Present Simple, Past SimpleFuture Simples crpamatensHoM 3amore o0pasy-

IOTCS [IPU TIOMOIIU 6CHOMO2AMENbHO20 2nazonia 10 bee coomeemcmeyowem épemenu akmue-

Hozo 3anoza u Participle Il (npuuacmue npoweowezo spemenu) cmuicnosozo 2nazona.

Present Simple Passive

YTBepautenbHas popma

OtpunarenbHas popma

Bonpocurenbnas popma

I'm told e paccKasblBarOT | am not told Am | told ?

You're told rese PACCKA3BIBAIOT You aren’t told Are you told?

He’s told €My paccKa3blBaroT He isn’t told Is he told?

She's told i PaccKasbIBarOT She isn't told Is she told?

We're told sam paccKa3bIBarOT We aren’t told Are we told?

You're told saum PaCcCKa3bIBAIOT You aren’t told Are you told?

They’re told um PACCKA3BIBAIOT They aren’t told Are they told?

It's translated by my brother.| It isn’'t translatecoy my|lIs it translated by you

brother.

brother?

Past Simple Passive

YTBepautenbHas popma

OtpunarenbHas popma

Bonpocurenbnas popma

| was told e pacckazanu | wasn't told Was | told ?
You were told re6e paccxasam You weren't told Were you told?
He was toldewy pacckasam He wasn't told Was he tol®

She was told «it pacckazamm

She wasn't told

Was she told?

We were told

pacckasaiu

HaMm

We weren't told

Were we tol®

You were told sau pacckazanu

You weren't told

Were you told®

They were told uu pacckazamm

They weren’t told

Were they tol®

It was built by Gustave Eiffel.

It wasn't built bgustave
Eiffel.

Was it built by Gustave Eiffel

NJ

Future Simple Passive

YTBepautensHas Gopma

OTtpunatenpHas hopma

Bomnpocutensnas ¢hopma

I'll be told e PaCCKaKyT | shan’t be told Shall | be told ?
You'll be told  re6e paccxaxyr You won't be told Will you be told?
He’ll be told €MY PaCcCKaxKyT He won't be told Will he be told?

She’ll be told eit PaccKakyT

She won'’t be told

Will she be told?

We'll be told nau PaccKakKyT

We shan’t be told

Shall we be tol@

You'll be told saum PpacCKaKyT

You won’t be told

Will you be told?

They’" be told um paccKakxyT

They won't be told

Will they be told?

It'll be done tomorrow.

It won’t be done tomorrow.

Will it be done tomorrow?

Ha pycckuii si3pIk ri1aronsl B Passive VOICeMoryT mepeBoauThCS CIICAYIOIMIUME CIO-

cobaMmu:



75

1) Coueranuem riaroja 6sims (B IpoOIIEAIEM U OyayIieM BpEMEHax) ¢ KpaTkoi (hopmoii
npuvacTus crpagarensHoro 3aiora. (The article will be translated immediatelyCsatbs Oyner
nepeBejieHa ceiyac xe.)

2) 'marosiom ¢ oxoHuaHueM Ha -cs, -cb. (Foreign languages are studied in all technical
colleges. MHocTpaHHBIE SA3BIKK U3YYaIOTCS BO BCEX TEXHHYECKUX HHCTUTYTaX.)

3) Heompenenenno-nmuunbiMu npeiokenusmu (6e3 momexkaiero). (A telegram will be
sent to the winner. Hobeaurento NONLIIOT TEIETpamMmy.)

B aHrmiickoM s3bIKE B CTPAJaTeILHOM 3aJ10Te MoKa3aTejeM BpeMeHH CIY)XUT TJ1aroJ
to be, koTOphIii U3MeHsIeTCsl B 3aBHCHMOCTH OT JIHIA W YHC/IA moajiexamero. CMbICIOBOR
riarost ctout Beeraa B gopme Participle 11, 1.e. ocracres newsmennsim. (New films are shown
here every week. Hosbie ¢ribMbl TOKa3bIBaIOT 37€Ch Kaxaylo Henemo. The laboratory is
equipped with automatic machineryJlabopatopust 000py0BaHa aBTOMaTHYCCKUMH MEXaHHU3-
mamu. A new film was shown here yesterdayessrii ¢puiibM ObUT TOKa3aH 3/1€Ch BUepa.)

Eciu yka3biBaeTcsi, KeM HJIM 4eM NPOM3BOJAUTCS JeiiCTBHE, TO yIOTPeOIseTCs Cyliie-
CTBUTEIILHOE MJIM MECTOMMEHHE C MpeioraMu Dy mimm With, BbIpaskaroiiuMu OTHOIICHUE TBO-
purenbHoro nazaexa. (The new engine was designed by our engineeifi®esiii nBurarens Obu
CKOHCTPYHPOBAH HAIIUMH HH)KEHEPAMHU. )

B aHTrIHiiCKOM MpPEUIOKCHUH 3a CKa3yeMbIM B CTPaJaTeIbHOM 3aJI0r€ MOXKET CJICI0BATh
MPEJIOT; CJIOBO, C KOTOPBIM 3TOT MPEIIOT COOTHOCUTCS, SIBJSICTCS MO IexaiuM. [loatomy mpu
nepeBojie HA PYCCKUIi SA3bIK MPeNJIOT CTABUTCS mepea 3TUM cioBoM. (The engineer was sent
for. —3a umkenepom mocnanu. This article is much spoken aboutOé sToii cTarbe MHOTO TOBO-

pAT.)

Expressions of quantity
Too much/many + noun
Too + adjective
Not enough + noun
Not + adjective + enough

LESSON 18, LESSON 19, LESSON 20

Yenosuwvie npeonoscenua (Conditionals)

Type If - clause Main clause

First Conditional If + any present form (PresenEuture/Imperative

(peanbhas, BepositHas | Simple, Present Continuous [o€an/may/might/must/should #+
CUTYyalus u ec | Present Perfect) infinitive without “to”

pe3ynbTar B

HACTOSIIEM BPEMCHH)

If you go to America, you'll negdisa.

Second Conditional | If + Past Simple or Past Continuous Would/couldhmig infinitive

(HepeanbHoe, without “to”
BOoOOpaxkaeMoe,

MaJIOBEpPOSTHOE

yCIIOBUE u €ero

pe3ynbTar B

HACTOSIIEM BPEMCHH)

What would you do if you lived on the island?

Past Perfect
dopwmel Tnarona B Past Perfect ActiveOpasyioTcs mpu moMouy ecnomozamenbHoz2o
2nazona to haves npoweowem spemenu (had) u Participle Il cuoicrosozo 2nazona.
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YTBepautenbHas popma

OtpunarenbHas popma

BonpocurensHas ¢popma

| had worked (I'd worked)

| hadn’t work

Had | worked?

You had worked (You'o
worked)

You hadn’'t work

Had you worked?

He had worked (He’'d worked
She had worked (She
worked)

It had worked (It'd worked)

He hadn’t work
dShe hadn’t work
It hadn't work

Had he worked?
Had she worked?
Had it worked?

We had worked (We'dWe hadn’t work Had we worked?
worked)
You had worked (You'd You hadn'twork Had you worked?
worked)

They had worked (They
worked)

1 They hadn’t work

Had they worked?

I'd already sent the letter by

o'clock yesterday.

6l hadn’t sent the letter.

Had you already sent th
letter?

Past Perfecynompeonsemcsa
- JUISl BRIpQOXKEHUS ACHCTBUS, 3aKOHYMBILIETOCS 10 Hayaia Ipyroro JeUCTBUS WU A0 yKa-
3aHHOro0 MoMeHTa B mpoiioM. (He had already sent the letter when | came édchga. —On yxe
OTIIPAaBHJI MMUCHMO, KOT/Ia 5 TIPHUIIIET K HEMY.)
After/when/because + Subject + Past Perfect Subject + Past Simple.

’

(meficTBHE MPOU3OIILIO PAHBIIIE),
After he had decided to go to Britain,

’

nEHCTBHE MPOU3OIILIO TIOTOM).
he packed his bags.
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PART Ill (NOTES)

LESSON 1

is called —sa3biBaroT
by + V-ing —nenas uro-nmuoo. (by burning —exwuras)
this — these atot —1H.

LESSON 2

person's life sku3Hb yenmoBeka

are answered by the viewersia-Borpocs! 0TBe4Yar0T 3pUTEIN
known as -#13BecTHBIC KaKk

may be interrupted several timesieryT npepbIBaTh HECKOJILKO pa3
are repeated HOBTOPSIOT

LESSON 3

far more efficient #amuoro 601ce 3¢ hexTuBHBIE

may well escapemeryT 0;1aromnosyqyHo coexarb

computers are now able to fingommeroreps! cefivac crtocoOHBI HAWTH
are publishedreuararor

that are neededeTropas HeoOXoMMa

LESSON 4

won't use it! —#e Oyay HCIoIB30BaTh!
as well as your grown childrenraike kak 1 CO CBOUMH CTapIUIMMH JICTHMHU
are amazed HOTpsICCHBI

LESSON 5

where this will be analysed, arranged, stored andyzed on requestrae Bce npoaHa-
JIM3UPYIOT, yIIOpsAa04YaT, COXPAHAT U BEIAAAYT I10 3alIpOCy
accepted by mankindresryueHHOE YenoBeUeCTBOM

LESSON 6

the fastest-growing industrycamas ObICTpO pa3BHBAIOIIASICS OTPACIH IPOMBIIUICHHOCTH
can be done moxer ObITh clielIaHa

its cleverest product eoii camblii «yMHBIH»

a lot simpler -samHoro mporie

LESSON 7

bluish markings fonyboBarbie OTMETHHBI
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LESSON 8

- finally becoming electronic onlyiaxoner; cTaB mOJHOCTBIO 3JEKTPUIESCKUM
- the image to be transmittedzeOpaxenue 1s nepenayun

- at the receiving endsa npuHuMaroieii Cropone

- thus -€00TBeTCTBEHHO

LESSON 9

- were solved 6su1H pereHs
- was taken outGsL1 moyueH
- have been transmittediepenaror

LESSON 10

- are to be supersedegdoskHa ObITh BBITECHEHA

- was cut 6su10 ype3aHo

- is fed -momacrcs

- can themselves be usedoryT caMOCTOSTEIBHO HUCIIOIB30BATHCS
- are internationally recognizediesxyHapo1HO IpH3HAHBI

LESSON 11
- Should this be allowed?Caenyer a1 310 paspemnTs?

LESSON 12

that can be instructedkeropyto MOXXHO HAy4UTh
is called -#a3piBaroT
is often nicknamedwacro ere Ha3bIBarOT
can be read, carried around, written omemito other readers mosxeT ObITH cunTaHa,
IIEpEHECEHA, 3alliCana, IEpefaHa Ipyrum
- that are attached to the computeorepsie mprcoeTIHHEHBI K KOMITBIOTEPY

LESSON 13

- in danger of being exhauste@a-rpanu ucromiexus

- is emptied -enycroricHa

- are rapidly depleted&sicTpo uctorarorcs, HICYEPIBIBAIOTCS
- are supplied #ocraBasercs

- it does reduce eokpatur (ycunurenbHoe «d0es»)

- which is utilized «oropsrit yrunusupyrot

- is planned #mnanupyrot

LESSON 14

- it must be accompaniedra nomKHA COPOBOKAATHCS
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LESSON 15

- are being eatenpazbenaroTcs
- by the dilute acid, rained on thempasxmwkeHHO# KUCIIOTO#, BRIANAIONICH B BUIC JTOXK-

Kparkoe cogep:xanue npountanHoro (Summary writing)
Kpatkoe conepxkanue o0braHO coctaBnsier 10-15%opurnnansaoro tekcta. JlaHHbIN BU

paboThl HCKITIOYAET UCIIOJIb30BaHUE TaONHll, rpauKoB, IPSIMON peud, CTUIMCTUYECKUX Mpue-
MOB peun (3nuTeToB, MeTadop, CPAaBHEHHUH), TOTIOIHUTEIbHOW HH)OPMALIUH K TEKCTY.

1.
2.
3

© 0

Meronvka HalmMcaHust KpaTKOTo COJIepKaHUs:
[Ipourute TEKCT HA OUH pa3.
Onpenenure ero OCHOBHYIO TEMY.
Yurasi TEKCT BO BTOPOW pa3, BBLACISNTE KIFOUEBBIE CIIOBA (CIIOBA, PACKPHIBAIOIIUE TITABHYIO
TEMY).
Cdhopmynupyiite s ceOs CyTh M LElb KaXA0ro absamna (MMOMHUTE, YTO OOBIYHO MEPBOE
npeUIoKeHre ab3alia CoEPKHUT B ceOe OCHOBHYIO HJICIO BCETo ab3aria).
[Momymaiite, He SBISAIOTCS JIM HEKOTOpPbIe a03allbl HEHYKHBIMHU B TUIaHE UX OTHOIIEHUS K OC-
HOBHOM TEME MOBECTBOBAHUS.
CocraBbpTe 4epHOBOH BapUaHT KPAaTKOIO COJEP’KaHUS Ha OCHOBE IPOJICIaHHbIX BaMH Ollepa-
105058
[IpoBepbTe, HET U B Bamlel padoTe JIMIIHUX CJIOB WM HE OTHOCALICHCS K CyTH MH(pOpMa-
WU,
CocTaBbTe BTOPYIO «yJIyULIEHHYI0» BEPCUIO KPATKOTO COAEP KAHUS
[TpoBepbTe paboOTy Ha TPaMOTHOCT.

LESSON 16
It is the damage being caused to this layat hworrying people ¥imenno ymiep6, npuau-

HEHHBII 030HOBOMY CJIO0, OECIIOKOUT JIIOICH.

LESSON 17

the input signal is connected across two termioalthe left —sxoaHo# curHan mocrymnaer
4Ycpe3 ABC KIICMMEI CJI€Ba

but they are still two port — HO oOHM Bce paBHO SBISIOTCS  YETHI
PEXTTOJIIOCHUKaMHU

parts of the output signal €pa3e1 BbIXomHOTO CHUTHATA

power supply levels —90. 3HaueHMsS MOITHOCTH HCTOYHHUKA
They can also be described by their response sGidls — Ycunurean MOXKHO TaKxKe
KJIaCCU(PUITUPOBATH 1O WX PEAKIIUU HA CHHYCOUIATBHBIN CUTHAT

the  frequency domain characteristics of  constant in gafor  sinu
soids over the frequencies of interest -emexyromue YacTOTHBIE XapakTe
pI/ICTI/IKI/I: IIOCTOSIHHOC YCUJICHUC JUUIA CHUHYCOUJAJIbHBIX CUT'HAJIOB B pa
0oueM quaria3oHe YacToT

frequency —s0. yactora CHHYCOHJAJILHOI'O CUTI'HaJla
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LESSON 18

starting at the outside and going down to the SuawiHast OT BHEIIHHX TPAHHI] U TIEpEMe-
masice K CoJiHIly

LESSON 19

compared to those of conventional energy SoOurGg®BHUMBIE C TEMH, KOTOPBIE Mpeiara-
IOT TPAAUIIUOHHBIC UCTOYHUKH SHCPIrun

LESSON 20

When milling —IIpu apobaenuu, GppesepoBke
machining it with endmills 1" in diameter or largepopaboTka ero TopreBoi ¢hpe3oit aua-
merpoMm B 1 aroiim (1" — one inchyuu 6osbime
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3AKIMIOYEHUE (CONCLUSION)

HeoThemieMoii 4acTbi0 MPOUCXOIAIINX B COBPEMEHHOM MHPE MPOIECCOB TI00aTN3auH
Y MHTEPHAMOHAIN3ALNY SIBISIOTCS YIIyONISIOIUEcs] KOHTAaKThl M MHTErpalusi TOCYAapCTB BO
BCEX 00JacTAX HAyKH M TEXHHKH, KyJIbTypbl M HCKYCCTBA, CICICTBHEM YETO CTAHOBHUTCS ITOBBI-
IIEHHEe MOOMJIBHOCTH Y€JIOBEYECKUX PECYpPCOB M 3HAaHUI1, KOHKYpEHIIHs BO BceX cepax ot oOpa-
30BaTEJIbHON O UCCIIEIOBATEILCKOM.

[ToaroTOBUTH CTYJICHTOB K YTEHUIO OPUTHHAIBHOM JINTEPATYypPhl MO CIIEUAIBHOCTH U BE-
AeHuto Oecepl B Tpeesiax COOCTBEHHOM TEMaTHKH — 3TO CIIOXKHBIM M MHOTOTPaHHBII IpoIecc.
3aMeTHM, 4TO OCHOBHAs L1€lb MHOTHX YIPaXHEHUN — YTEHHE, TOHUMAHUE TEePEBO CI0BOCOYE-
TaHUH W NpeAToKeHUH. VIMEIoTCcs BOIIPOCHO-OTBETHBIE YIIPAKHEHUS, YIIPAKHEHUS HA CIOBOOO-
pazoBaHue s OTPabOTKH aPUKCcaTbHBIX MOJIENeH M Ha MHOTO3HAYHOCTD CJIOB.

KonmuecTBo ympa)KHEHUH JOCTaTOYHO BEIHMKO M TO3BOJISIET OOECIEYUTh Kak paboTy B
ayJIUTOpPUH, TaK U CAMOCTOSITENIbHYIO padOTy CTyIEHTOB. B 3a1aHusAX K ynmpakKHEHUSIM HE yKa-
3piBaeTcs (hopMa (IIMChbMEHHAsI WM YCTHAs) MX BBIIOJHEHUS, OHA BHIOMpACTCS IperojaBaTeieM
U OIIpeJeNIAeTCsl YPOBHEM MOATOTOBKMA KOHKPETHOW TPYIIBI CTYJCHTOB. BhIonHeHHe psina yIi-
pPaXHEHHUI paccunTaHO Ha pabOTy CO CIOBapEM.

B 3akirouenue noxenaeM cTyIeHTaM MPUOOPETeHUS HEOOXOMMbIX HAaBBIKOB M Pa3BUTHS
CHCTEeMHOCTH MBIIIUICHHUS B JIOOBIX c(epax CBOEH NMPaKTUYECKOW IEATEIFHOCTH U YCIIEXOB B
JTOCTHKEHUH MTOCTABJICHHBIX IIETICH.
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NMPUNOXEHUE 1

Cxema CTpyKTYPHO-COJIEpKaTeILHOTO CooTHeceH s ¢ 6a3oBeiM YMK Reward

Pre-Intermediate

VYuebHoe MeTomuueckoe mnocobue mo urenuro | bazossiii YMK Reward Pre-Intermediate

HAYYHO-TIOMYJIIPHOU u TEXHUYECKON

JUTEpaTyppl Ha AHIVIMMCKOM  SI3BIKE UL

ctynentoB | u |l kypcop PK®
Lesson 1 Lessons 1 -5
Lesson 2 Lessons1-5
Lesson 3 Lessons 6 — 10
Lesson 4 Lessons 6 — 10
Lesson 5 Lessons 11 — 15
Lesson 6 Lessons 11 — 15
Lesson 7 Lessons 16 — 2(Q
Lesson 8 Lessons 16 — 20
Lesson 9 Lessons 21 — 25
Lesson 10 Lessons 21 — 25
Lesson 11 Lessons 21 — 25
Lesson 12 Lessons 26 — 3(
Lesson 13 Lessons 26 — 3(
Lesson 14 Lessons 26 — 3(
Lesson 15 Lessons 31 — 35
Lesson 16 Lessons 31 — 35
Lesson 17 Lessons 31 — 35
Lesson 18 Lessons 36 — 4(
Lesson 19 Lessons 36 — 4(
Lesson 20 Lessons 36 — 4(




